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FACULTY OF COMMERCE 
B.Com., I-Semester (Regular-Backlog) Examinations, February/March-2022 

Business Organization and Management 
Time: 3 Hours        Max Marks: 80 

 

 
Section - A (Short Answer Questions)                              5 x 4=20M 

Note:  Answer any Five of the following questions not exceeding 20 lines each.  
 

1. Industry 

 
 

2. Hindu Undivided Family 

 
 

3. Promoter 

 
 

4. Skills of Management 

 
 

5. Informal Organization 

 
 

6. MBO 

 

7. Accountability 

 
 

8. Responsibility 

 
 

Section - B (Essay Answer Questions)                            5 x 12=60M 

Note:  Answer any Five of the following questions in not exceeding 4 pages each. 



 

9. Define Business. Discuss its functions and types. 

 

 

10. How is Partnership Formed? Explain the advantages and disadvantages of Partnership. 

 
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11. Define a Joint Stock Company. Discuss the various kinds of Joint Stock Companies. 

 

 

12. What is Prospectus? Why is it issue? What does it contain?  

 

 

13. “Management is the process of administering and controlling the affairs of the organization, 

irrespective of its nature, type, structure and size.” Elucidate. 



 

 

14. Define Management. Explain the functions of management. 

 

 

15. What is Planning? State its advantages and disadvantages? 

 

 

16. Distinguish between Line and Staff Organizations. What are the reasons for conflict between them? 

How to resolve such conflict? 



 

 

17. What is Delegation of Authority? What are its elements? Explain the factors which influence the 

delegation of authority. 

 

 

18. Define Controlling. Discuss its objectives and importance in an organization. 

 

 
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FACULTY OF COMMERCE 
B.Com. I-Semester (Regular-Backlog) Examinations, February/March-2022 

Financial Accounting-I 
Time: 3 Hours        Max Marks: 80 

 

Section - A (Short Answer Questions)                              5 x 4=20M 

Note:  Answer any Five of the following questions not exceeding 20 lines each.  
 

1. What is Accounting Cycle? 
 

 
2. Following are the accounting transactions relating to Mr. P’s business. Use the accounting equation 

to show their effect on his assets, liabilities and capital. 

 

 
(Rs.) 

Commenced Business with a Capital  50,000 
Bought Machinery for cash  10,000 
Purchased goods from ‘A’ on credit A 15,000 
Sold goods for cash  10,000 

 
3. What is Petty Cash Book? Why is it prepared? 

 

 
4. From the transactions given below, prepare the sales book of Kumar Stationery for July 2021. 

5th July, 2021: Sold on credit to Saravana Traders of Tirupati. 
 10 packs of A4 sheets @ Rs.250 per pack; Less: 12% trade discount. 
20th July, 2021: Sold to Mohan & Co. of Mahabubnagar. 
 10 dozens of writing pads @ Rs.850 per dozen; Less: 10% trade discount. 
23rd July, 2021: Sold on credit to Narayanan old motor car for Rs.5,000. 
28th July, 2021: Sold to Kumaran for cash 15 packets of marker pens @ Rs.250 per packet. 

 
 A4 
 
 
 
  
 

5. Prepare Bank Reconciliation Statement from the following. 
 

 
(Rs.) 

Debit balance as per the Cash Book  15,000 

Cheques deposited but not cleared  
 1,000 

Cheques issued but not presented  
 1,500 

Bank interest  200 
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6. State whether the following expenses are capital or revenue in nature. 

 
i) Expenses on whitewashing and painting of a building purchased to make it ready for use. 


 

ii) Rs.10,000 spent on constructing platform for a new machine. 

 
iii) Repair expenses of Rs.25,000 incurred for whitewashing of factory building. 

 
iv) Purchased a new car for Rs.10,00,000. 

 
 

7. Rectify the following errors. 

 
i) Machinery bought Rs.3,000 posted to as Trade Mark Account. 

 
ii) Credit sales of worth Rs.1,200 was omitted to record in the book of original entry. 

 
iii) Repairs to Motor Van Rs.1,500 have been debited to Motor Van Account. 

 
iv) Unearned Sales of Rs.15,000 was incorrectly credited to Sales Account. 

 
 

8. A company purchased a machinery for Rs.8,00,000 and spent Rs.50,000 on its installation. The rate 

of depreciation is 15% per annum and the method of depreciation is Diminishing Balance. Show the 

machinery account for 4 years. 



 

 

Section - B (Essay Answer Questions)                            5 x 12=60M 

Note:  Answer any Five of the following questions in not exceeding 4 pages each. 



 

9. Define Accounting. State the principles of accounting. 


 
10. Mr.A is a trader dealing in textiles. For the following transactions, post journal entries for the month 

of January, 2021. 
Mr.A
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  (Rs.) 
1st January, 2021 Commenced business with cash 

 70,000 

5th January, 2021 Purchased goods for X and Co. on Credit 
XCo.  30,000 

10th January, 2021 Cash deposited into bank 
 40,000 

12th January, 2021 Bought a building for L and Co. on credit 
LCo.  95,000 

15th January, 2021 Cash withdrawn from bank for office use 
 5,000 

16th January, 2021 Cash withdrawn from bank for personal use of Mr.A 
A 4,000 

20th January, 2021 Towels given as charities 
 3,000 

25th January, 2021 Shirts taken over by Mr.A for personal use 
Mr.A 12,000 

29th January, 2021 Sarees distributed as free samples 
 3,000 

31st January, 2021 Goods (table clothes) used for office use 
 200 

 
11. What do you mean by subsidiary books? What are its types? Explain each one of them. 

 

 
12. Prepare Petty Cash Book on imprest system from the following particulars for Mohan Ltd. 


  (Rs.) 
1st September, 2020 Received for petty cash payments 

 1,000 

4th September, 2020 Paid for stationery 
 140 

9th September, 2020 Paid for postage 
 80 

10th September, 2020 Paid for printing charges 
 150 

11th September, 2020 Paid for carriage 
 125 

17th September, 2020 Paid for telegrams 
 25 

20th September, 2020 Purchased envelops 
 30 

21st September, 2020 Paid for coffee to office staff 
 30 

22nd September, 2020 Paid for office cleaning 
 50 

30th September, 2020 Paid for miscellaneous expenses 
 200 
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13. Define Bank Reconciliation Statement. Explain the steps involved in preparing it. 
 

14. Prepare a Bank Reconciliation Statement as on 31st March, 2021 from the following: 
 
i) On 31st March, 2021, Cash Book of a firm showed bank balance of Rs.36,000 (Dr.). 

 
ii) Cheques had been issued for Rs.30,000, out of which cheques of Rs.24,000 only were 

presented for payment. 

 

iii) Cheques of Rs.8,400 were deposited in the bank on 28th March, 2021 but had not been credited 
by the bank. Also, a cheque of Rs.3,000 entered in the Cash Book on 30th March, 2021 was 
banked on 3rd April. 

 

iv) A cheque from Suresh for Rs.2,400 was deposited in the bank on 26th March, 2021 was 
dishonoured, advice was received on 2nd April. 

 

v) Pass Book showed bank charges of Rs.120 debited by the bank. 
 

vi) One of the Debtors deposited Rs.3,000 in the bank account of the firm on 26th March, 2021, but 
the intimation in this respect was received from the bank on 2nd April. 

 

15. On 1st July, 2017 a company purchased a machine for Rs.3,90,000 and spent Rs.10,000 on its 
installation. It decided to provide depreciation @ 15% per annum, using written down value 
method. On 30th November, 2020 the machine was sold for Rs.1,00,000. On 1st December, 2020 the 
company acquired and put into operation a new machine at a total cost of Rs.7,60,000. 
Depreciation was provided on the new machine on the same basis as had been used in the case of 
the earlier machine. Prepare machinery account for four year ending 31st March, 2021. 





 

16. Rectify the following errors. 
 
i) Purchase of furniture for Rs.615 passed through Purchase Book. 

 
ii) The motor car had been purchased for Rs.30,400. Cash had been correctly credited but Motor 

Car account had been debited with Rs.30,000 only. 

 

iii) Interest on deposits received Rs.60 had been debited in cash account, but had been not 
credited to the interest account. 
 
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::5:: 
iv) The balance in the Account Receivable of Mr.A Rs.100 had been written off as bad but no other 

account had been debited. 
Mr.A 
 

v) Rs.7,700 paid for wages to workman for making showcases had been charged to wages 
account. 
 

vi) Bill Payable Book overcast by Rs.500.  
 

vii) Goods purchased for proprietor’s use for Rs.1,000 was debited to purchase account. 
 

17. What are the components of final accounts of sole trading? How do sole-traders prepare final 
accounts? Give the proforma of final accounts. 

 

18. Trial Balance of Sindhu Agencies as on 31-03-2021 is as under: 
 

Debit Balances  (Rs.) Credit Balances  (Rs.) 

Drawings  1,800 Capital  80,000 

Buildings  
 15,000 

General reserve 
 20,000 

Furniture and Fittings  
 7,500 

Loan from Hari @ 6% 
 15,000 

Computer  25,000 Sales  1,00,000 

Interest on Loan  
 900 

Commission Received 
 7,500 

Loose Tools  6,100 Sundry Creditors  10,000 

Purchases  75,000     
Stock on 1-4-2020  25,000     
General expenses  15,000     
Freight inward  2,000     
Freight outward  1,000     
Sundry debtors  28,000     
Bank  20,200     
Goodwill  10,000     

  2,32,500   2,32,500 

Adjustments : 
i) Closing Stock is Rs.32,000  
ii) Depreciate computer: 10%; Buildings: 5%; Furniture and Fittings: 10% 

 
iii) Provide for bad and doubtful debts: 5% and for-discount on debtors: 2% 

 
iv) Provide interest on drawings: 6% and on capital: 8% 

 
Prepare final accounts for the above said period after giving effect to the adjustments.  
 

 
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FACULTY OF COMMERCE 
B.Com. I-Semester (Backlog) Examinations, May-2019 

(Common paper for General, Computers and Computer Applications) 

Financial Accounting-I 
Time: 3 Hours        Max Marks: 80 
                                                     Section - A (Short Answer Type)                                   5 x 4=20 M 
Note:   Answer any FIVE of the following questions in not exceeding 20 lines each. 
 

1. Explain the various systems of Accounting.
వ్యవ్స్థ 

2. Distinguish between Debit Note and Credit Note.


3. What is amended cash book? How it is prepared?


4. Briefly explain the different types of errors?


5. What are the objectives of preparing Final Accounts?


6. A company purchased a machinery for Rs.2,60,000 and spent Rs.40,000 on its installation. It is 
estimated that the life of the machinery is 5 years and the scrap value is Rs.20,000. Find out the 
amount of annual depreciation and the rate of depreciation.




7. Prepare Bank Reconciliation Statement from the following information.

i) The balance as per cash book Rs.10,000. 

 
ii) Cheques issued but not presented for payment Rs.600. 

 
iii) Cheques paid into bank but note credited Rs.900. 

 
iv) Cheques paid into bank but note entered in cash book Rs.1,000. 

 
v) Bank charges debited twice in pass book Rs.20. 

 
8. Pass necessary adjustment entries for the following.


i) Outstanding Expenses: Rs.3,000  
ii) Prepaid Rent: Rs.500  
iii) Interest Earned but not Received: Rs.300  
iv) Goods distributed as free samples: Rs.200. 

 
                    Section - B (Essay Answer Type)                            5 x 12=60 M 

Note:   Answer the following questions in not exceeding 4 pages each. 
 

9. a) Define Accounting. Explain the principles of Accounting.
  

OR
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  b) Show that the accounting equation is satisfied after taking into consideration each of the  
  following transactions in the books of Mr.A. 

  Mr.A
  

i) Started business with capital Rs.1,00,000. 
 

ii) Bought furniture Rs.25,000  
iii) Bought goods for cash Rs.20,000  
iv) Bought goods from Mr.B on credit Rs.5,000. 

Mr.B 
v) Sold goods for cash for Rs.15,000  
vi) Sold goods to Mr.C on credit Rs.8,000. 

Mr.C 
vii) Paid cash to Mr.B Rs.4,000 (Mr.B 
viii) Received cash from Mr.C Rs.5,000 (Mr.C 
ix) Paid cash into bank Rs.5,000  
x) Withdrawn from bank Rs.10,000 for office use. 

 
xi) Salaries paid Rs.1,000  
xii) Commission Received Rs.200  

10. a) What are the various subsidiary books? Explain each of their significance.
 

OR 
  b) Enter the following transactions in cash book with cash and bank columns of Mr.M. 

  Mr.M
  

   2018, March 1st : Cash in hand Rs.12,000 and bank Rs.4,000 (Cr.) 
    Cr. 
   2018, March 2nd  : Received a cheque from ‘A’ Rs.3,960 and allowed him discount of Rs.40. 

   A 
   2018, March 9th  : ‘A’s cheque deposited into the bank. 
    A 
   2018, March 11th  : Withdrew from bank for office use Rs.8,000. 
     
   2018, March 12th  : Paid to Mr.N by cheque Rs.590 and discount received Rs.10. 
    Mr.N 
   2018, March 14th  : Received cash from Mr.P Rs.2,400 in full settlement of his debt Rs.2,500. 
     Mr.P 
   2018, March 22nd  : Issued a cheque for petty cashier Rs.100. 
     
   2018, March 27th  : Paid to Mr.Z by cheque Rs.920; Discount received Rs.30. 
    Mr.Z 
   2018, March 31st  : Cash sales Rs.1,200. 
     

 
11. a) From the following particulars, ascertain the balance as per cash book as on 31st March, 2018.

  
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i) Overdraft as per pass book on the above date Rs.9,000. 

 
ii) Cheques paid into bank, but not cleared before March, 31st amounted to Rs.2,000. 

 
iii) Cheques issued but not cashed before that date amounted to Rs.3,000. 

 
iv) Interest on overdraft shown only in pass book Rs.400. 

 
v) Dividends collected by the bank but not entered in the cash book amounted to Rs.600. 

 
vi) Debit side bank column of the cash book cast short Rs.100. 

 
vii) Bank charges debited in the pass book Rs.40. 

 
viii) Insurance premium paid by the bank not appeared in cash book Rs.500. 

 
OR 

  b) From the following particulars, ascertain the bank balance as per pass book as on  
  31st March, 2018. 

   
i) The balance as per cash book on the date was Rs.15,000. 

 
ii) Cheques issued but not cashed Rs.1,000. 

 
iii) Cheques paid into bank but note cleared Rs.2,000. 

 
iv) Cheque paid into bank but dishonoured Rs.600. 

 
v) Bank charges debited twice in the cash book Rs.25. 

 
vi) Debit side of the cash book cast short Rs.100. 

 
vii) There is a direct deposit in bank by the customer Rs.8,000 for which there is no information. 

 
12. a) Rectify the following errors  

i) Goods taken by the proprietor for personal use Rs.2,000 were debited to miscellaneous 
account. 

 

ii) Wages paid to Mr.A Rs.4,000 debited to his personal account. 
Mr.A 

iii) Sales book under cast by Rs.1,000. 
 

iv) Cash sales to Mr.B Rs.3,000 were debited to B’s account. 
Mr.BMr.B

v) Machinery sold for Rs.2,000 was credited to sales account. 
 

vi) Discount allowed to a debtor Rs.20 credited to discount received account. 
 

OR                                                       Contd….3/5
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 b) On 1st April 2014, a machine was purchased by ABC Ltd., for Rs.5,00,000. On 1st October, 2015  

  additions were made to the extent of Rs.2,00,000. On 1st July, 2016 further additions were made  
  to the extent of Rs.1,00,000. On 30th September, 2017, the machine bought on 1st April, 2014  
  was sold for Rs.2,80,000. On the same day another machinery was purchased for Rs.6,00,000.  

    Show the machinery account for four years ending 31st March, 2018 in the books of the company  
   assuming that the rate of depreciation is 10% under Diminishing Balances method. 
   ABC

 
   

 
 
 

 

13. a) The Trial Balance of Mr.Lishanth as on 31st March, 2018 is given below. You are required to  
  prepare trading and profit and loss account for the year ended 31st March, 2018 and balance  
  sheet as on that date after taking into account the given adjustments. 
  
 
 

 Trial Balance as on 31st March, 2018  

Particulars  Amount  
(Rs.) 

Particulars  Amount  
(Rs.) 

Purchases  98,000 Capital  70,000 

Patent Rights  4,000 Reserves  7,000 

Building  1,00,000 Creditors  45,000 

Stock  (1.4.2017) 15,000 Bank Loan  12,000 

Printing and Stationery 
 1,750 

Sales  
 1,58,000 

Sundry Debtors 
 35,000 

Reserve for Doubtful Debts 
 250 

Wages and Salaries 
 11,000 

Purchase Returns 
 3,500 

Bank Charges  700 
  

Sundry Expenses  
 3,500 

  

Furniture  
 8,000 

  

Investment  10,000 
  

Cash  4,000 
  

Sales Expenses  800 
  

Carriage Inwards 
 1,300 

  

Travelling Expenses 
 2,700 

  

 
2,95,750 

 
2,95,750 
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  Adjustments: 
i) Closing stock is valued at the cost of Rs.15,000 while its market price is Rs.18,000. 

 
ii) On 31st March, 2018 the stock of stationary was Rs.500. 

 
iii) Provide reserve for bad and doubtful debts at 5% on debtors. 

 
iv) Depreciate building at 5% and patent rights at 10%. 

 
v) Interest on capitals is to be provided at 5% p.a. 

 
OR 

  b) The following balances are drawn from the books of Mr. Gowtham as on 31.03.2018. 
  

 
(Rs.) 

 
(Rs.) 

Land  1,00,000 Creditors  20,000 
Building  2,00,000 Salaries  10,000 
Sales  3,00,000 Wages  12,000 
Purchases  1,75,000 Goodwill  15,000 
Sales Returns 
 10,000 

General Expenses 
 5,000 

Purchase Returns 
 5,000 

Selling Expenses 
 12,000 

Stock  (1.4.2017)  25,000 Bad debts  1,000 
Debtors  50,000 Insurance  1,200 
Bank Overdraft 
 15,200 Capital  2,81,000 
Cash on Hand 
 5,000 

     The following adjustments are to be made: 
    

i) Closing stock Rs.30,000. 
 

ii) Provide depreciation at the rate of 10% on buildings. 
 

iii) Write off further bad debts Rs.1,000. 
 

iv) Salaries yet to be paid Rs.3,000. 
 

v) Insurance prepaid Rs.300. 
 

You are required to prepare a trading and profit and loss account and balance sheet of           
Mr. Gowtham. 

 

 



Code: 391/ET/YW/BL 

FACULTY OF COMMERCE 
B.Com., I-Year, (YW-Backlog) Examinations, Oct/Nov-2020 

Business Organization and Management 
Time : 3 Hours               Max. Marks : 70 

          PART-A                         5X4=20M 

I. Answer any Five questions not exceeding 20 lines each. 
 
1. Commerce  
2. Entrepreneurship  
3. Joint Hindu Family  
4. Public Limited Company  
5. Statement in Lieu of Prospectus  
6. Forward Looking  
7. Organization Chart  
8. Centralization  

         PART-B                        5X10=50M 

II.   Answer the following questions not exceeding 4 page each. 
 

9. a) What is Trade? How is it related to business, industry and commerce?


OR  
 b) Discuss the sources of short-term and long-term finance of an enterprise. 
   
10. a) Explain the factors influencing the choice of suitable form of business organization. 

 
OR 

 b) What is Partnership? What are its features? Explain the process of its registration. 
    
11. a) Define Joint Stock Company. Discuss the various types of Companies. 

 
OR  

 b) What do you understand by Prospectus? What does it contain? Under what circumstances statement 
in Lieu of Prospectus is used? 

  
  
12. a) Define Management. Discuss its functions and significance. 

 
OR  

 b) “Decision Making is the process of selecting the best among available alternatives.” Elucidate. 
  
13. a) What is Organization? Explain the various types of Organizations. 

 
OR  

 b) How is Delegation of Authority different from Decentralization? Discuss the guidelines for making 
delegation effective. 

   
   

 
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Code: 389/ET/YW/BL 

FACULTY OF COMMERCE 
B.Com., I-Year, (YW-Backlog) Examinations, October-2020 

Financial Accounting 
Time : 3 Hours               Max. Marks : 70 

          PART-A                        5X4=20M 

I. Answer any FIVE of the following questions not exceeding 20 lines each for theory questions. 


 

 

1. Business Entity Concept and Money Measurement Concept. 
  
2. What are the limitations of Accounting? 

 
3. What is Journal Proper? What are the transactions to be recorded in this book? 
  
4. Prepare Trail Balance  

 
(Rs.) 

Bills Receivables  16,000 

Bills  Payable  23,200 

Capital  96,000 

Purchases  72,000 

Sales  1,16,000 

Furniture  70,000 

Machinery  79,200 

5. Prepare Bank Reconciliation Statement on 31st March, 2018. 
  

i) Bank Balances as per cash book Rs.40,000. 
  
ii) Cheque paid into bank, but not credited in pass book Rs.5,000. 
  
iii) Cheques issued Rs.12,000 but not presented for payment. 
  
iv) Bank charges debited in pass book only Rs.400. 
  

6. Mohan sent 200 radios costing Rs.500 each on consignment basis and spent Rs.10,000 towards freight. 
During the transit, 20 radios were damaged. Ascertain the value of Loss. 

 
  
7. Distinguish between Straight Line Method and Diminishing Balance Method. 
  
8. Calculate Annual Depreciation and Rate of Depreciation.
 

 
(Rs.) 

Cost of Machinery  2,00,000 

Installation Expenses  20,000 

Scrap Value  20,000 

 Estimated Life of an asset is 10 years   
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::2::                                   Code: 389/ET/YW/BL 
         PART-B                    5X10=50M 

II.  Answer the following questions in not exceeding 4 pages each, in case of theory questions. 

 

9. a) Define Accounting. Explain Functions of Accounting. 
 

OR  
 b) What is Double Entry System of Accounting? Explain its advantages. 
  
10. a) From the following transactions write up a three column cash book of Zakir Khan. 

 
2016 June, 1 Cash in hand Rs.2,000 and Bank Overdraft Rs.1,500 

 

2016 June, 7 Received cash from Riaz & Co. Rs.190; discount allowed Rs.10 
 

2016 June, 12 Sales by cheque Rs.1,000 
 

2016 June, 15 Deposited cash Rs.1,200 to bank account 
 

2016 June, 20 Paid to Waqas Shahzad Rs.485; discount received Rs.15 
 

2016 June, 25 Received cheque from Salman of Rs.500 and deposited in the bank 
 

2016 June, 27 Paid to Hassan by bank cheque Rs.300 
 

2016 June, 28 Mr. Salman cheque of dated 25th has been dishonoured. 
 

OR  
 b) From the following particulars of Reema Traders, prepare a bank reconciliation statement on June 

30, 2006. 
  
   

i) Balance as per the cash book Rs.35,750. 
 

ii) Rs.250 charges for credit card fee is debited by bank, which is not recorded in cash book. 
 

iii) Cheques for Rs.7,550 are deposited in the bank but not yet collected by the bank. 
 

iv) There was also a debit in the pass book of Rs.3,500 in respect of a discounted bill dishonored. 
 

v) Bank charges debited in pass book only Rs.200. 
 

vi) A customer deposited directly in the bank account and credited in pass book only Rs.5,000. 
 

11. a) From the following Trial Balance of Mr.Sarthak for the year ended 31st March 2011. Prepare Final 
Accounts.


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::3:: 


Particulars Amount Amount 

Capital  -- 2,73,000 

Furniture and Fittings  48,100 -- 

Cash at Bank  73,230 -- 

Land and Building  4,94,000 -- 

Stock  10,530 -- 

Debtors and Creditors 
 84,890 26,780 

Purchases and Sales  3,55,790 6,77,120 

Carriage Outwards  4,030 -- 

Salaries  54,210 -- 

General Expenses  31,200 -- 

10% Loan (1-4-2010)  -- 2,60,000 

Returns  1,690 1,430 

Rent  1,820 -- 

Wages  71,170 -- 

Interest  13,000 -- 

Bills Payable  -- 8,970 

Electricity Charges  3,640 -- 

  12,47,300 12,47,300 

  Additional Information : 
i) Salaries outstaning Rs.2,210. 

 
ii) Create a provision for doubtful debts @ 5% p.a. 

 
iii) Depreciate land and building @ 10% p.a. and furniture and fitting @ 20% p.a. 


 

iv) Closing stock was valued at Rs.20,280. 
 

OR 
 b) Pass journal entry for following cases.  

i) Purchase of furniture was passed in purchase book amounting Rs.25,000. 
 

ii) Wages paid for installation of machine posted to wages account amounting Rs.7,000. 
 

iii) Goods worth Rs.15,000 returned to supplier was not recorded in the books. 
 

iv) Goods worth Rs.23,000 sold to Anil was not recorded in the books. 
 

v) Commission received from ‘Z’ Rs.2,500 not recorded in books. 
Z
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12. a) Ali consigned 100 cases of candles to Khalid costing Rs.50 per case. He incurred expenses Packing- 

Rs.100, Carriage- Rs.150 and Rail freight- Rs.200. Some cases were damaged in transit and 

consignee took delivery of 90 cases. Consignee spent Rs.50 for cartage and Rs.300 towards 

warehouse rent. Khalid sold 70 cases at Rs.60 per case. He sent net amount payable to consignor 

after deducting his expenses and commission at the rate of 5% of sale. Consignor received Rs.300 

from railway for damages. Show Consignment Account and Consignee Account in the book of 

Consignor.







OR  
 b) Explain the differences between Joint Venture and Partnership Business.
  
 

13. a) On 1st April, 2008, Jasmeet Ltd. purchased a machine for Rs.12,00,000. On 1st October, 2010, a part 

of machine purchased on 1st April, 2008 for Rs.80,000 was sold for Rs.45,000 and a new machine 

was purchased for Rs.1,58,000 on the same date. Company provides depreciation @ 10% p.a. on 

written down value method. Prepare necessary ledger accounts. Assume the closes books of 

accounts on 31st March every year.
  


   
  
   

OR  
 b) A firm desires to debit its profit and loss account with a uniform figure every year in respect of 

repairs and renewals. It expects that considering the life of the asset in question, Rs.9,000 will be 

the average amount to be spent per year. Actual repairs are Rs.900 in the first year, Rs.2,100 in the 

second year and Rs.3,300 in the third year. Show the necessary ledger account.
  
  
  
  

 
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Note: Answer any Four questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 

 

1. Define Sole Proprietorship. Explain its advantages and disadvantages. 

 
 

2. Explain the kinds of Partners. 

 
 

3. What is Memorandum of Association? Discuss the clauses in it. 

 
 

4. Write the differences between Memorandum of Association and Articles of Association. 

 
 

5. Explain the functions of Management. 

 
 

6. Write a note on skills of Management. 

 
 

7. Define Planning. Explain the approaches of planning. 

 
 

8. Write the reasons for line and staff conflicts. 

 
 

9. Define Delegation of Authority. Explain the nature and importance of Delegation of 

Authority. 

 
 

10. Explain the relationship between coordination and control. 

 

 
 
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Code: 745/ET/BL 

FACULTY OF COMMERCE 
B.Com. II-Semester (Backlog) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 

Financial Accounting-II 
Time: 2 Hours        Max Marks: 80 

 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 

1. Anand brought goods worth Rs.4,500 from Samant on August 1st, 2018. On the same day, Anand 

accepted the bill for Rs.4,500 at 3 months drawn by Samant. Samant got the bill discounted with his 

bank at 4%. Before the due date, Anand informed Samant about his inability to pay the amount of 

bill. He further requested him to accept Rs.2,500 in cash and immediately draw upon him a new bill 

for the remaining amount at 2 months together with interest at 8% p.a. Samant agreed. The 

second bill was duly paid on maturity. Give journal entries in the books of Samant and Anand. 






 
 

2. On 1st January, 2018 Mohan drawn on Ram a bill for 3 months for Rs.20,000 which Ram duly 

accepts. Mohan discounts the bill for Rs.19,400. On the same date Ram draws on Mohan a bill for 3 

months from Rs.20,000 which is accepted by Mohan, Ram gets the bill discounted with his bankers 

at 18 percent. On the due date, Mohan meets his bill, but Ram fails to honour his acceptance, the 

bank having to pay Rs.10 as noting charges. Give journal entries in the books of Mohan. 





 
 

3. Ali consigned 100 cases of candles to Khalid costing Rs.50 per case. He incurred expenses – 

Packing: Rs.100, Carriage: Rs.150 and Rail Freight: Rs.200. Some cases were damaged in transit 

and consignee took delivery of 90 cases. Consignee spent Rs.50 for cartage and Rs.300 towards 

warehouse rent. Khalid sold 70 cases at Rs.60 per case. He sent net amount payable to consignor 

after deducting his expenses and commission at the rate of 5% of sale. Consignor received Rs.300 

from railway for damages. Show necessary accounts in the books of Ali and Khalid. 







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4. D of Delhi sent to his agent, C of Chennai, 500 articles costing Rs.15 per article at an invoice price 

of Rs.20 per article. The following payments were made by D in this connection- Freight and 

Carriage: Rs.450, Miscellaneous Expenditure: Rs.50. C sent a bank draft for Rs.3,000 as an advance 

against the consignment. C sold 300 articles at a flat rate of Rs.28 per article and sent an account 

sales showing deducting for storage charges Rs.550, insurance Rs.550 and his commission of 3% 

plus 2% Del Credere on gross sale proceeds and remitted the amount due on consignment. C also 

informed D that 50 articles were damaged in transit and thus they were valued at Rs.550. Show the 

necessary accounts in the books of D and C. 

DC

DC
C

D
DCDC
 
 

5. A and B were co-ventures in joint venture sharing profits and losses in the proportion of four fifths 

and one-fifth respectively. A supplies goods to the value of Rs.50,000 and incurs expenses 

amounting to Rs.5,400. B supplies goods to the value of Rs.14,000 and his expenses amount to 

Rs.800. B sells goods on behalf of the joint venture and realizes Rs.92,000. B is entitled to a 

commission of 5 percent on sales. B settles his account by bank draft. Prepare necessary accounts 

in the books of A and B assuming that the books are maintained by both of them separately. 

AB
AB

BBB

 
 

6. S and R carrying on a business separately as contractors, jointly take up the work of constructing a 

building at an agreed price of Rs.3,50,000 payable in cash Rs.2,40,000 and in fully paid shares of a 

company for the balance of Rs.1,10,000. A bank account is opened in which S and R paid Rs.75,000 

and Rs.50,000 respectively. The following costs were incurred in completing the constructions and 

the contract price was duly realised. 

SR


SR 

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i) Wages paid : Rs.90,000 

ii) Material purchased for cash : Rs.2,10,000 

iii) Materials supplied by R from his stock R: Rs.27,000 

iv) Consulting Engineer’s fees paid by S S: Rs.3,000 

 

The accounts were closed, S taking up all the shares of the company at an agreed valuation of 

Rs.48,000, treating loss on shares as joint venture loss and R taking the remaining stock of 

materials at Rs.9,000. 

Prepare and close the joint venture accounts and personal accounts of S and R assuming that a 

separate set of books are opened for this purpose and that the net result of the venture is shared 

by S and R in ratio of 2:1. 


R
SR
 
 

7. A keeps his books by single entry system. From the following information find out the profit earned 

by him during 2017-18. 

A
 

 
(Rs.) (Rs.) 

Bank Balance  740 (Cr.) 400 (Dr.) 

Cash in Hand  -- 10 

Debtors  5,300 8,800 

Creditors  1,500 1,950 

Stock  1,700 1,900 

Plant  2,000 2,000 

Furniture  140 140 

 

On 30th June, A brought in Rs.600 as additional capital land without Rs.300 for private use. A 

provision for doubtful debts 5% is necessary. Plant and furniture are subject to depreciation 5% and 

interest on capital is to be charged at 5%. 

A

 
 

8. What is Single Entry? What are its features and defects? How to find out profit under this system? 



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9. The Receipt and Payment Account of Satya Charitable Institution is given. 

 
Receipts  (Rs.) Payments  (Rs.) 

To Balance b/d To:   By Furniture  3,000 

Cash at Bank  22,000 Investments  55,000 

Cash in Hand  8,800 
Advance for building 
 20,000 

Donations  32,000 Charities  60,000 

Subscriptions  50,200 Salaries  10,400 

Endowment Fund  
 60,000 Rent and Taxes  4,000 

Legacies  24,000 Printing  1,000 

Interest on Investment  
 3,800 Postage  300 

Interest on Deposits  
 800 Advertisements  1,100 

Sale of Old Newspapers  
 500 Insurance  4,800 

    Balance c/d :   

    Cash at Bank  32,000 

    Cash in Hand  10,500 

  2,02,100   2,02,100 

Prepare the Income and Expenditure Account for the year ended on 31st March, 2018 after 

considering the following: 


 
i) It was decided to treat fifty percent of the amount received on account of legacies and 

donations as income. 

 
ii) Liabilities to be provided for are: Rent: Rs.500, Salaries: Rs.1,200; Advertisement: Rs.200 

 

iii) Rs.2,000 due for interest on investment was not actually received. 

 
 

10. What do you understand by Non Trading Concerns? What steps are taken to prepare income and 

expenditure account from a receipt and payment account? 


 

 
 
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FACULTY OF COMMERCE 
B.Com. II-Semester (Regular) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 

Financial Accounting-II 
Time: 2 Hours        Max Marks: 80 

 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  
 
 

1. Define Bills of Exchange. Explain the accounting treatment in the books drawer and drawee when 
the bill is honoured and dishonoured under the following situations. 

 
 
i) Bills is retained with the drawer till the maturity, 
  
ii) Bills is Discounted, 
  
iii) Bill is Endorsed and 
  
iv) Bill is sent to Bank for Collection. 
  
 

2. On 1st December, 2019 Mohan drew on Ram a bill for 3 months for Rs.20,000 which Ram duly 
accepted. Mohan discounted the bill for Rs.19,400. On the same date Ram drew on Mohan a bill 
for 3 months from Rs.20,000 which was accepted by Mohan. Ram got the bill discounted with his 
bankers at 18 percent p.a. on the due date, Mohan met his bill, but Ram failed to honour his 
acceptance as he become insolvent. Mohan could able to receive a dividend of 50 paisa in a rupee 
from the estate of Ram. Give journal entries in the books of Mohan and Ram. 

 




 
 

3. What is Consignment? What are its features? How is it different from Sale? 
 

 

4. Mr.X of Hyderabad consigned goods costing Rs.1,20,000, but with invoice price of Rs.1,50,000 to 
Mr.Y of Warangal on 1st January, 2020. Mr.Y is entitled to a commission of 5% on sales at invoice 
price and 20% on any surplus amount realized. The direct expenses of the consignment were 
Rs.10,000. On 31st March, 2020 an account sales was received by Mr.X showing that sales were 
affected for Rs.1,40,000 in respect of 4/5th of the quantity of goods consigned to him. His actual 
expenses were Rs.4,000 paid for go-down rent. Mr.Y accepted a bill drawn by Mr.X for Rs.1,10,000 
and remitted the balance due in cash. Show the relevant accounts in the books of both the parties. 

 XY 
  
 Y

XY
YXY
YX,Y 
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5. ‘A’ and ‘B’ decided to undertake a venture jointly. They agreed to share profit & losses in the ratio 

of 3:2. ‘A’ supplied from her own stock goods worth Rs.2,00,000 and paid Rs.4,950 for freight and 

Rs.1,200 for sundry expenses. ‘B’ purchased goods for Rs.1,95,000 for the venture and paid 

Rs.7,000 for selling expenses. ‘B’ accepted a bill for 3 months of Rs.95,000 drawn by ‘A’ as an 

advance. This bill was discounted immediately by ‘A’ for Rs.92,000 and the amount of discount 

was charged to joint venture account. ‘B’ sold all the goods for Rs.5,00,000. At the end of the 

venture, the accounts were settled. 

 Give journal entries for the above transactions in the books of ‘A’ and show joint venture account 

and A’s account, in the books of ‘B’. 

 A,B
A
B
A
BA
B


 ABA

 

6. ‘A’, ‘B’ and ‘C’ undertake to erect a five-storied mansion for ABC Company Ltd. The contract price 

is agreed at Rs.25,00,000 to be paid in cash, Rs.22,00,000 by four equal instalments and the 

balance amount in 8% debentures of the company. They agree to share equally the profit or loss. 

They opened a joint bank account with cash contributed as stated below. 

 A: Rs.3,00,000; B: Rs.3,75,000 and C: Rs.2,00,000. 

 ‘A’ arranges the preparation of building plans etc. and pays Rs.32,000 as architect’s fees. ‘B’ brings 

a concrete mixer and other implements valued at Rs.80,000 and ‘C’ brings a motor lorry valued at 

Rs.75,000. They paid in cash for the following: Materials- Rs.12,26,000; Wages- Rs.7,33,200; 

Sundry Expenses- Rs.20,000; Plant- Rs.60,000. 

 On completion of the venture concrete mixer is sold for Rs.50,000 and plant and other implements 
are sold for Rs.10,000. ‘C’ takes back the motor lorry at Rs.40,000. ‘A’ took over the debentures 
issued by the company at a valuation of Rs.2,80,000. 

 Show the necessary ledger accounts for the Joint Venture. 

 A, B, CA, B, C
 


AB
C

 A
BC

 
 


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 
C
A

  
 

7. X, a retail trader had no proper methods of accounting but the following information is made 
available to you. You are required to prepare opening and closing statement of affairs and 
statement showing profit or loss for the year ended 31st March, 2019 after taking into 
consideration the adjustments. 

 X

 

Particulars  01.04.2018 
(Rs.) 

31.03.2019 
(Rs.) 

Sundry Debtors  22,500 25,000 

Sundry Creditors  30,000 35,000 

Bank Overdraft  40,000 20,000 

Stock  32,500 40,000 

Cash in Hand  1,000 4,000 

Bill Receivable  30,000 40,000 

Furniture  5,000 5,000 

Motor Van  40,000 40,000 

Computer  30,000 60,000 

 
 Adjustments : 

i) On 1st October, 2018 ‘X’ had withdrawn Rs.25,000 for personal use. 
 X 
ii) He had also withdrawn Rs.15,000 for his daughter’s marriage. 
  
iii) Depreciate furniture by 10% p.a. and write off Rs.1,000 from motor van. 
 

 
iv) As regards debtors Rs.1,000 is irrecoverable and further reserve of 5% is to be made on 

debtors. 
  
v) Allow interest on capital at 10% p.a.  
vi) Charge interest on drawing Rs.1,000.  
 

8. Mr.P runs a small factory. He was not maintaining his account on double entry book keeping 
system. On April 01, 2018 he had the following assets and liabilities; Machinery: Rs.3,00,000; 
Buildings: Rs.2,00,000; Stock: Rs.70,000; Cash at bank: Rs.10,000; Cash in hand: Rs.3,500; Dues 
from customers: Rs.25,500; Dues to creditors: Rs.60,700 and Outstanding wages: Rs.3,000. He 
withdrew Rs.7,000 every month for meeting his personal expenses. He had also introduced 
Rs.25,000 during the year as additional capital. On March 31st, 2019 his position was as follows: 
Machinery: Rs.4,00,000; Building: Rs.2,00,000; Stock: Rs:62,000; Cash at bank: Rs.38,000; Cash 
in hand: Rs.12,400; Dues from customers: Rs.26,400; Dues to creditors: Rs.44,130. Calculate the 
profit made by Mr.P during the year using statement of affairs method. 
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
 P




 




P


9. The following was the Trial Balance of a Public School on 31st March, 2020. 

  
Debit Balance  (Rs.) Credit Balance  (Rs.) 

Land  50,000 Capital Fund  15,60,000 

Buildings  15,00,000 Tuition Fees Received  25,10,000 

Furniture  3,00,000 Salaries Payable  1,75,000 

Teacher's Salary  12,00,000 Prize Fund  2,00,000 

Clerk's Salary  2,60,000 Tournament Fund  3,00,000 

Investments  7,00,000 General Reserve Fund  2,00,000 

Stationary  1,73,000 Interest on Investments  77,000 

Lighting  36,000 
Donations for School Hall 

 1,50,000 

General Expenses  65,000     

Prizes Awarded  20,000     

Tournament Expenses 

 30,000     

Books  3,75,000     

Bank Balance  4,63,000     

  51,72,000   51,72,000 

  

 Depreciation of building @ 2%, furniture @ 10% and Books @ 20%. 

 Prepare Income and Expenditure Account for the year ending March 31st, 2020 and the Balance 

Sheet as on that date. 

 




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10. Prepare the Receipts and Payment Account for the year ended 31.03.2020 from the following 

transactions of Hyderabad Sports Club. 

 



Particulars  (Rs.) 

Entrance Fee (Including the arrears of Rs.800 for 2018-19) 

 5,000 

Subscription Collected (Including Rs.2,000 for 2020-21) 

 20,000 

Salaries Paid  10,000 

Donation for Club Pavilion  2,00,000 

Construction for Club Pavilion  1,50,000 

Rent Paid (Including an advance of Rs.500) 

 8,800 

News Papers  10,000 

Miscellaneous Expenses  4,000 

Tournament Expenses  20,000 

Furniture Purchased  10,000 

Outstanding Salaries and Rent  3,000 

Opening Cash in Hand (1-4-2019)  10,000 


 
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FACULTY OF COMMERCE 
B.Com. II-Semester (Backlog) Examinations, Sept./Oct.-2020 

(Common paper for General, Computers and Computer Applications) 

Financial Accounting-II 
Time: 2 Hours        Max Marks: 80 

 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 

1. B owes C a sum of Rs.6,000. On 1st April, 2018 he gives a promissory note for the amount for 3 

months to C who gets it discounted with his bankers for Rs.5,760. On the due date the bill is 

dishonoured, the bank paying Rs.15 as noting charges. B then pays Rs.2,000 in cash and accepts a 

bill of exchange drawn on him for the balance together with Rs.100 as interest. This bill of exchange 

is for 2 months and on the due date the bill is again dishonoured, C paying Rs.15 for noting charges 

draft the journal entries to be passed in C’s books. 

 BC
C
B
C
C 

 
2. X draws on Y a bill of exchange for Rs.15,000 on 1st January, 2018 for 3 months. Y accepts the bill 

and sends it to X who gets it discounted for Rs.14,000. X immediately remits Rs.4,800 to Y. On the 

due date, X, being unable to remit the amount due, accepts a bill for Rs.21,000 for three months 

which is discounted by Y for Rs.20,055. Y sends Rs.3,370 to X. Before the maturity of the bill X 

becomes bankrupt, his estate paying fifty paisa in the rupee. Give the journal entries in the books of 

X and Y. 

 XYYX
XYX
Y
YXX
XY


3. Mr.X of Hyderabad consigned goods costing Rs.2,00,000, but with invoice price of Rs.2,50,000 to 

Mr.Y of Warangal on 1st January, 2018. Mr.Y is entitled to a commission of 5% on sales at invoice 

price and 20% on any surplus amount realized. The direct expenses of the consignment were 

Rs.10,000. On 31st March, 2018 an account sales was received by Mr.X showing that sales were 

effected for Rs.2,20,000 in respect of 4/5th of the quantity of goods consigned to him. His actual 

expenses were Rs.3,000 paid for go down rent. Mr.Y accepted a bill drawn by Mr.X for Rs.50,000 

and remitted the balance due in cash. Show the relevant accounts in the books of both the parties. 

XY
Y

X
Y

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::2:: 


4. Reddy of Hyderabad sends goods on consignment to Rao of Mahaboobnagar. The terms are that 

Rao will receive 10% commission on the invoice price (which is cost plus 25%) and 20% of any 

price realised above the invoice price. Reddy sent goods costing Rs.1,60,000 and spent Rs.15,000 

on freight forwarding etc. Rao accepted a bill of exchange for Rs.1,60,000 immediately on receiving 

the consignment. His expenses were Rs.2,000 as rent and Rs.1,000 as insurance. Rao sold 3/4th of 

the goods for Rs.1,95,000. Half of the sales were on credit and one customer failed to pay Rs.4,000. 

 Give Consignment Account and Rao’s Account in the books of Reddy and account sales in the books 

of Rao. 

 








5. ‘A’ of Ahemdabad and ‘B’ of Bombay enter into a joint venture to consign 100 bales of cotton to ‘C’ 

of Ceylon to be sold by the latter on the joint risk of ‘A’ and ‘B’, sharing in proportion of 3/5th and 

2/5th respectively. ‘A’ sends 60 bales at Rs.1,300 each, paying freight and other charges amounting 

to Rs.900. ‘B’ sends 40 bales at Rs.1,250 each and pays for freight and other charges Rs.800. All the 

bales are sold by the consignee for Rs.1,50,000 out of which he deducts Rs.1,600 for his expenses 

and his commission at 3 percent. He remits a bank draft for Rs.70,000 to ‘A’ and the balance to ‘B’ 

in a separate draft. Give the necessary ledger accounts to record these transactions in the books of 

‘A’ and ‘B’. 

ABC
A
B

A
BAB

 

6. A and B entered into a joint venture to construct a building for a newly started company. The 

contract price was fixed at Rs.20 lakhs to be settled as follows: 

 Rs.18 lakhs in cash and Rs.2 lakhs in fully paid preference shares. 

 A joint bank account is opened in which A and B deposited Rs.2,50,000 and Rs.1,50,000 

respectively. The profit or loss is to be shared in the ratio of 2:1 after providing for interest on 

capital at 10%. 

 AB
 
 AB
 
 
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 The details of their transactions are : 

 
(Rs.) 

Plant purchased  2,00,000 

Wages paid  1,00,000 

Material purchased  7,00,000 

Material supplied by ‘A’ from his own stock
A 60,000 

Material supplied by ‘B’ from his own stock 
B 50,000 

Architect’s fees paid by ‘A’ A 10,000 

The contract was completed and price was received as stipulated. Half of the plant was taken over 
by ‘A’ for Rs.80,000 and half was sold for Rs.1,00,000. Joint venture accounts was closed by ‘A’ 
taking up all the shares at an agreed valuation of Rs.1,80,000 and ‘B’ taking up the stock of material 
at an agreed valuation of Rs.20,000. Assume that separate books were maintained for the joint 
venture and give ledger accounts. 

 
 A
  B
 
  
7. Ram, a retail trader had no proper methods accounting but the following information is made 

available to you. You are required to prepare opening and closing statement of affairs and 
statement showing profit or loss for the year ended 31st March, 2017 after taking into consideration 
the adjustments. 


 

Particulars  01.04.2016 31.03.2017 

(Rs.) (Rs.) 

Sundry Debtors  22,500 25,000 

Sundry Creditors  30,000 35,000 

Bank Overdraft  40,000 20,000 

Stock  32,500 40,000 

Cash in Hand  1,000 4,000 

Bill Receivable  30,000 40,000 

Furniture  5,000 5,000 

Motor Van  40,000 40,000 

Computer  30,000 60,000 

Adjustment :- 
i) On 1st October, 2017 Mr.Ram had withdrawn Rs.25,000 for personal use out of which he 

invested Rs.5,000 at par on the same day in 10% municipal bonds which is treated as business 
assets. 

 

ii) He had also withdrawn Rs.15,000 for his daughter’s marriage. 

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iii) Depreciate furniture by 10% p.a. and write off Rs.1,000 from motor van. 
 

iv) Allow interest on capital at 10% p.a. 
 

v) Charge interest on drawings Rs.1,000. 
 

OR 
8. What is Single Entry System? Explain its advantages and defects. How to ascertain profit under this 

system? 
 
 
 
 
9. Prepare the receipts and payment account on 31.03.2018 from the following transactions of Delhi 

Sports Club. 
 

Particulars  (Rs.) 

Entrance Fees  5,000 

Subscription Collected  20,000 

Salaries Paid  10,000 

Donation for Club Pavilion  2,00,000 

Construction for Club Pavilion  1,50,000 

Rent paid  8,800 

News Papers and Periodicals  10,000 

Miscellaneous Expenses  4,000 

Tournament Expenses  20,000 

Furniture Purchased  10,000 

Outstanding Salaries and Rent  3,000 

Opening Cash in Hand  10,000 

 
 
10. What do you understand by Non Trading Concerns? What are their features? How are accounts 

prepared in Non Trading Concerns? 
 


 

 
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Code: 883/ET/R 

FACULTY OF COMMERCE 
B.Com., II-Semester (Regular) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 

Business Laws 
Time: 2 Hours        Max Marks: 80 

 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  

 

1. i) “All Contracts are Agreements, but All Agreements are not Contracts” comment. 

   
 ii) Mr.A promised to present a diamond ring to his wife on her birthday. Later he failed to 

perform it. Can Mrs.A file a case against Mr.A? Give reasons. 

  A
A 
 

2. i) What do you mean by Discharge of Contract? Explain different modes of discharge of 

contracts. 

   
 ii) A promised to pay Rs.10,000 to B if he counts the number of drops in Bay of Bengal. Is it a 

valid contract? Why or why not? 

   BA
  
 
 

3. i) Define Contract of Sale. Describe the essentials of a valid Contract of Sale.
  


 ii) ‘P’ delivered a diamond ring to ‘Q’ on sale or return basis. Later, ‘Q’ delivered it to ‘R’. In turn, 

‘R’ gave it to ‘S’ on similar terms. ‘S’ lost the ring. Is ‘Q’ liable to pay the loss to ‘P’? Give 

reasons. 

  PQQR
  RSSPQ
  

 

4. i) Explain the composition and functioning of consumer protection councils in India. 

    
 ii) A RTI applicant is denied information on some issue. Will it be amounted as deficiency in 

service? Can the applicant be entitled to compensation under the consumer protection Act, 

1986?  

    ARTI
  
  
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5. What is Copy Right? What are its terms? State the rights of the copy right owner. 

  
 

6. Will trade secrets and geographical indications come under intellectual property rights? Explain in 

detail. 

 
 

7. What are the qualifications and disqualifications of a company director? Mention his duties and 

responsibilities. 

 
 

8. Explain the statutory provisions with regard to calling and holding an AGM of a joint stock 

company. 

  


 

9. Under what circumstances company name can be removed from the registrar of companies? 

Clearly demonstrate. 

 
 

10. Distinguish between voluntary winding up and compulsory winding up of a company. Describe the 

process of winding up in both the cases. 

  


 

 
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FACULTY OF COMMERCE 
B.Com., III-Semester (Regular-Backlog) Examinations, February/March-2022 

Advanced Accounting 
Time: 3 Hours        Max Marks: 80 

 

 
Section - A (Short Answer Questions)                               5 x 4=20M 

Note:  Answer any Five of the following questions not exceeding 20 lines each.  
 

1. How deceased partner’s account is settled? 
 

 
2. Distinguish between Shares and Debentures. 

 
 

3. How is share capital shown in company’s Balance Sheet? 
 

 
4. State the circumstance under which a partnership is dissolved. 

 
 

5. Avi and Ashu are partners, sharing profits in the ratio of 3:2. Lishu is admitted as a partner. The 
new profit sharing ratio among Avi, Ashu and Lishu is 5:3:2. Find out the sacrificing ratio. 

 
 

6. Write journal entries to be recorded in the books of a company when it issues shares, at par and 
collects proceeds in four instalments namely applications, allotments, first call and final call. 

 
 

7. Z Ltd. purchased furniture costing Rs.2,20,000 from CD Ltd. The payment was to be made by 
issuing of 9% preference share of Rs.100 each at a premium of Rs.10 per share. Pass necessary 
journal entries in the books of Z Ltd. 
Z CDZ

Z 
 

8. A business has earned average profits of Rs.1,00,000 during the last few years and the normal rate 
of return in similar business is 10%. Find out the value of goodwill by Super profit method, if the 
goodwill is valued at 3 years’ purchase of super profit. The assets of the business were 
Rs.10,00,000 and its external liabilities Rs.1,80,000. 



 
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Section - B (Essay Answer Questions)                            5 x 12=60M 

Note:  Answer any Five of the following questions in not exceeding 4 pages each. 


 

9. Vishnu and Shiva sharing profits in proportion of ¾ and ¼ furnished their balance sheet on 31st 
March, 2020 as follows. 
¾ ¼ 
 

Liabilities  (Rs.) Assets  (Rs.) 

Creditors  1,00,000 Cash at Bank  90,000 

General Reserve  32,000 Bills Receivable  52,000 

Capital Accounts :  Debtors  64,000 

Vishnu  2,40,000 Stock  1,10,000 

Shiva  1,28,000 Furniture  44,000 

  Buildings  1,40,000 

 5,00,000  5,00,000 

They admit Mohan into partnership on 1st April 2020 on the following conditions. 
 
i) Mohan pays Rs.1,20,000 as his capital for 1/5th share in the future profits. 

 
ii) Mohan pays Rs.60,000 as Goodwill  
iii) The furniture be reduced by 10%  
iv) 5% Provision for doubtful debts to be crated on debtors. 

 
v) Value of buildings be increased by 25%  
From the above information draw necessary Ledger Accounts and new Balance sheet of the firm. 
 
 

10. What is partnership deed? What are its contents? State the importance of partnership deed. 
 

 

11. The following was the balance sheet of A and B as on 31st March, 2021. 
AB 

Liabilities  (Rs.) Assets  (Rs.) 

Trade Creditors  28,000 Bank  11,500 

Employees P.F.  10,000 Stock  6,000 

A’s Loan A 10,000 Debtors  19,000 

B’s Loan B 15,000 Furniture  4,000 

Workmen Compensation Fund  5,000 Plant  28,000 

Investment Fluctuation Fund  1,000 Investments  11,000 

Capitals:   A 

                                  B 

10,000 
8,000 

Profit and Loss Account 
 7,500 

 87,000  87,000 
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The firm was dissolved on 31st March, 2021 on the following terms. 
 
i) A’ agreed to take the investment at Rs.8,000 and to pay off Mrs. A’s Loan. 

AA 
ii) Other assets were realized as follows: 

Stock: Rs.5,000; Debtors: Rs.18,000; Furniture: Rs.4,500, Plant: Rs.25,000. 

 

iii) Expenses on realization amounted to Rs.1,600. 
 

iv) Trade creditors agreed to accept Rs.27,000 only. 
 

Prepare realization account, Partners’ Capital Accounts and Bank Account. 


 

12. What do you understand by insolvency of a Partner? Explain the decision in Garner Vs. Murray case 
when a partner becomes insolvent. 

 Vs. 
  
 

13. Sindhu Ltd. invited applications for issuing 75,000 equity shares of Rs.10 each at a premium of Rs.5 
per share. The amount was payable as follows: On application Rs.2, on allotment Rs.7 (including 
Rs.5 premium), on first and final call Rs.3 each. Applications for 3,00,000 shares were received. 
Applications for 2,00,000 shares were rejected and money refunded. Shares were allotted on pro-
rata basis to the remaining applicants. The first and final call was made. The amount was duly 
received except on 1,500 shares applied by Ram. His shares were forfeited. The forfeited shares 
were re-issued at a discount of Rs.4 per share. Pass necessary journal entries for the above 
transactions in the books of Sindhu Ltd. 

 
 
 
 




  
 
14. Sphoorthi Ltd. has resolved to utilise Rs.3,00,000 out of the general reserve balance to declare 

bonus to the shareholders in the form of payment of final call @ Rs.3 per share on 1,00,000 equity 
shares of Rs.10 each. Along with this, the company further decided to utilise the balance of share 
premium account to issue fully paid-up bonus shares in the ratio of one equity share for every five 
equity shares held. Show journal entries in the books of Sphoorthi Ltd. 

 
 
 
 
  
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::4:: 
15. For the year ended 31st March, 2019 the profit of Karuna Ltd. before charging depreciation on fixed 

assets and managerial commission amounted to Rs.3,00,000. Depreciation for the year amounted to 
Rs.60,000 and a commission of 10% of the profits (before charging such commission) was payable 
to the manager. 

 The paid up capital for the company consisted of 5,000, 6% preference shares of Rs.100 each and 
50,000 equity shares of Rs.10 each. Interim Divided @ 50 paisa per share was paid during the year. 
There was credit balance of Rs.35,000 in the profit and loss account brought from the previous 
year. The following appropriations were proposed by the Board of Directors and subsequently 
passed at the Annual General Meeting of the Company. 
i) To pay the year’s dividend on preference shares. 
ii) To pay a final dividend on equity share at 50 paisa per share to make a total dividend of Rs.1 

per share for the year. 
iii) To provide for taxation @ 30% on the net profit. 
iv) To transfer Rs.25,000 to the General Reserve. 
v) To Carry forward the balance. 







i)  
ii)  

 
iii)  
iv)  
v)  

16. What is Profit/Loss Prior to Incorporation? Explain the methods of its computation using an 
examples. 

  
17. Calculate the value of equity share under Fair Value Method from the following particulars. 
 
 10% preference share capital: 5,500 shares @ Rs.10 each fully paid up.
  

Equity Share Capital: 55,000 shares @ Rs.10 each fully paid up. 
 
Outside Liabilities : Rs.7,50,000 

Reserves and Surplus : Rs.4,50,000 

Fictitious Assets : Rs.4,10,000 

Average Normal Profits after taxation every year for the last five years: Rs.85,000. 
 
Normal Rate of Returns in the Industry : 12%. 

18. What is Goodwill? What is the need for valuation of Goodwill? Explain the various methods of 
valuing Goodwill. 
 

 
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Code: 779/ET/BL 

FACULTY OF COMMERCE 
B.Com. III-Semester (Backlog) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 
Advanced Accounting 

Time: 2 Hours        Max Marks: 80 
 

 

Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 

 

1. What are the points to be considered while calculating the amount due to a retiring partner or the 

executor of a deceased partner? 

 

 
2. A firm has two partners X and Y, sharing profits in the ratio of 3:2. They admit Z into the firm on 1st 

April, 2018. When the Balance sheet of the firm was as follows: 
XYZ
 

Liabilities  Rs. Assets  Rs. 

X's Capital X 3,00,000 Fixed Assets  3,60,000 

Y's Capital Y 2,00,000 Investments  90,000 

Creditors  70,000 Debtors  40,000 

    Stock  60,000 

    Cash  20,000 

  5,70,000   5,70,000 

Terms of admission are as follows: : 
i) Z to bring Rs.2,00,000 as his share of capital for 1/3rd share in future profits and Rs.35,000 as 

his share of goodwill. 

Z
 

ii) Value of stock and fixed assets are to be reduced by 20% and Rs.10,000 respectively. 

 
iii) Depreciate fixed assets by 10% and appreciate investment by 20%. 

 
Prepare Revaluation Account, Partners’ Capital Accounts and New Balance Sheet from the above 

information. 


 
 

3. Under what circumstances a partnership firm is converted into a company? State the accounting 

treatment in the books of the firm in such case. 


 
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4. The following was the balance sheet of partners A and B as on 31st March, 2018. 
AB 

Liabilities  Rs. Assets  Rs. 

Trade Creditors  38,000 Bank  11,500 

Bank Overdraft  4,000 Stock  5,000 

Mrs.A's Loan A 10,000 Debtors  19,000 

B's Loan B 15,000 Furniture  4,000 

Capitals :   Plant  28,000 

A 10,000 Investments  10,000 

B 8,000 Profit & Loss Account  7,500 

  85,000   85,000 

The firm was dissolved on 31st March, 2018 on the following terms. 
 
i) A agreed to take the investment at Rs.8,000 and to pay off Mrs. A’s Loan. 

A 
ii) Other assets were realized as follows: 

Stock: Rs.5,000; Debtors: Rs.18,000; Furniture: Rs.4,500; Plant: Rs.25,000 

 

iii) Expenses on realization amounted to Rs.1,600 
 

iv) Trade creditors agreed to accept Rs.27,000 only 
 

Prepare Realization Account, Partners’ Capital Accounts and Bank Account. 
 
 

5. Explain the accounting treatment of various ways of issue of shares. 
 
 

6. The Gowtham Ltd.’s Balance Sheet shows the following balances as on 31.3.2018. 30,000 equity 
shares of Rs.10 each fully paid; 18,000 10% Redeemable Preference Shares of Rs.10 each fully 
paid; 4,000, 15% Redeemable Preference Shares of Rs.10 each, Rs.8 paid up. General Reserve 
Rs.12,000; Securities Premium Rs.15,000; Profit and Loss Account Rs.80,000 and Capital Reserve: 
Rs.20,000. 
Preference shares are redeemed on 1.4.2018 at a premium of Rs.2 per share. For redemption, 
4,000 equity shares of Rs.10 each are issued at 10% premium. A bonus issue of equity share was 
made at par, two shares being issued for every five held on that date. Show the journal entries to 
record the above transactions. 








 
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7. Explain the accounting treatment in case of profit prior to incorporation. 
 

8. A Company’s Trial Balance as on 31.03.2018 is as following. 
 

  Dr Cr 
  (Rs.) (Rs.) 

Share Capital    12,00,000 

Reserve Fund    4,00,000 

Debtors and Creditors  4,00,000 60,000 

Fixed Assets  6,00,000   

Purchases and Sales  10,00,000 18,00,000 

Wages  6,00,000   

Establishment  1,00,000   

Stock 1.4.2017  4,00,000   

Government Securities  6,00,000   

Dividend Equalization Reserve    2,00,000 

Income Tax Paid  2,00,000   

Income Tax Provision 1.4.2017    4,00,000 

Interim Dividend  1,00,000   

Interest    50,000 

Staff Provident Fund    50,000 

Goodwill  5,60,000   

Profit and Loss A/c    4,00,000 

   45,60,000  45,60,000 

Adjustment : 
i) Stock on 31.03.2018 was Rs.8,00,000  
ii) Provide depreciation on fixed assets Rs.30,000  

 
iii) Provide Rs.1,00,000 for income tax for 2017-18 

 

iv) Provide 10% of net profits to reserve fund  
Prepare final accounts as per Companies Act, 2013 from the above details. 
 

9. What is the importance of Valuing Shares? Discuss the various methods of valuing them. 
 

10. From the following information find out Goodwill under 4 years’ purchase of super profit and 
capitalization of super profit method. 
Net Profits for four years : 
I-year: Rs.30,000; II-year: Rs.40,000; III-year: Rs.50,000; IV-year: Rs.80,000. The profit includes 
non-recurring profits on an average of Rs.2,000; Investment: Rs.8,00,000; Normal Rate of Return: 
5%; Proprietor’s Remuneration per Annum: Rs.6,000. 




 

 
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FACULTY OF COMMERCE 
B.Com., III-Semester (Regular-Backlog) Examinations, February/March-2022 

Business Statistics-I 
Time: 3 Hours        Max Marks: 80 

 

Section - A (Short Answer Questions)                               5 x 4=20M 

Note:  Answer any Five of the following questions not exceeding 20 lines each.  
 

1. What are the reasons for distrust of statistics? 
 

 
2. Explain the features of diagrammatic presentation. 

 
 
3. What is Kurtosis? How is it measured? 

 

 
4. Distinguish between absolute and relative measures. 

 
 
5. The following table shows the number of hours spent by a boy on different events on a working 

day. Represent this information on a Pie Chart. 
pie
 

Activity  No. of Hours  
School  6 

Sleep  8 

Playing  2 

Study  4 

TV  1 

Others  3 

 
6. The average weight of a class of 24 students is 50 kgs. When the weight of the teacher is also 

included, the average weight increases by 1 kg. What is the weight of the teacher? 

 

 
7. Find out the range and coefficient of range of the following data. 


59, 46, 30, 23, 27, 40, 52, 35, 29. 

 
8. Calculate probable error if correlation coefficient is 0.8 and the number of items is 25. 

 
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Section - B (Essay Answer Questions)                            5 x 12=60M 

Note:  Answer any Five of the following questions in not exceeding 4 pages each. 



9. “Statistics is the science of collecting, analysis, presenting and interpreting data.” Discuss. 

 

 

10. Define Sampling. Explain the principles and methods of sampling. 

 

 

11. What do you understand by presentation of data through graphs? Describe the various techniques 

of construction of graphs. 

 

 

12. Draw less than and more than Ogive curves for the following frequency distribution. 

 

Class  0-10 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency  2 5 12 31 39 10 4 

 

13. The mean of the following frequency distribution is 62.8 and the sum of all frequencies is 50 

compute the missing frequencies f1 and f2. 



f1 f2  

Class  0-20 20-40 40-60 60-80 80-100 100-120 

Frequency  5 10 f1 7 f2 8 

 

14. Calculate the Mode from the data given below pertaining to the marks obtained by the students in a 

test. 

 

Marks 

 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Students 

 5 18 22 25 10 16 28 31 11 09 
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15. Compute Bowley’s Coefficient of Skewness from the following data. 

 

Distance in Kms. 

 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

No. of Buses 

 10 20 28 30 34 38 23 8 5 

 

16. By using the following information, find out which company declares more profits and which 

company profits are more consistent. 



 

Particulars  Company A A Company B B 
Average Profits (Rs. in ‘000) 

 56 68 

Variance  136.89 289 

 

17. Calculate Karl Pearson’s Coefficient of Correlation for the following data. 

 

X 10 20 30 40 50 60 70 80 90 100 

Y 100 90 80 70 60 50 40 30 20 10 

 

18. Compute Correlation by concurrent deviation method form the following data. 

 

X 50 52 55 58 55 52 54 60 62 68 

Y 80 78 75 72 75 71 70 69 72 64 

 
 

 
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Note: Answer any Four questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
1. Define Statistics. Explain its features and functions. 

 
 

2. Explain the process of statistical investigation with the help of suitable illustrations. 
 
 

3. Distinguish between Diagrammatic and Graphic Presentations. 
DiagramsGraphs 
 

4. Present the following data by a suitable diagram. 
 

Class  0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency  2 8 16 20 30 24 16 12 7 5 
 

5. Compute Mode from the following data. 
 

Class  0-4 4-8 8-12 12-16 16-20 20-24 24-28 28-32 

Frequency  5 17 23 25 36 24 12 8 
 

6. Calculate Geometric Mean for the following distribution. 
 

Variable  0-5 5-10 10-15 15-20 20-25 

Frequency  10 25 30 25 10 
 

7. Calculate Mean Deviation and its coefficient for the following data. 
 

Class  10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency  2 4 15 20 16 10 5 5 3 
 

8. Compute coefficient of Skewness for A, B and C from the following information. 
A, B C 

Particulars  A B C 

Average Wages (Rs.)  113.5 52.6 43.1 

Modal Wages (Rs.)  114 51.5 42.4 

Variance  24 174 250 
 

9. Calculate correlation co-efficient by concurrent deviations method for the following data. 
 

X 5 10 15 20 25 30 35 40 45 50 

Y 100 90 80 70 60 50 40 30 20 10 
 

10. Calculate Karl Pearson’s coefficient of correlation for the following data. 
 

X 10 12 13 16 17 20 25 30 34 

Y 20 22 26 27 29 33 37 40 42 

 
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FACULTY OF COMMERCE 
B.Com., II-Year, (YW-Backlog) Examinations, October-2020 

(Common paper for General, Computers & Computer Applications) 

Business Statistics 
Time : 3 Hours               Max. Marks : 70 

          PART-A                         5X4=20M 

I. Answer any Five of the following questions, not exceeding 20 lines each for theory questions. 




 
 

1. What are the functions of Statistics?   

2. Explain the characteristics of Averages.  
3. What do you understand by Tabulation?  

4. State the limitations of Index Numbers.  
5. Construct more than Ogive curve for the following data. 

  
Class  0-10 10-20 20-30 30-40 40-50 

Frequency  4 5 8 6 9 

6. The average marks secured by 50 students in a class were 60. Later, it was found that a score of 64 

was taken as 46. Find the correct average marks secured by the students. 


 

7. Compute quartile deviation from the following data. 
  

10 20 30 40 50 60 70 80 90 100 

8. From the given information, calculate Probable Error. 
  
 Correlation coefficient : 0.96 

 Number of items : 10 

 

         PART-B                     5X10=50M 

II.  Answer the following questions in not exceeding 4 pages each, in case of theory questions. 



 

9. a) Define Statistics. Discuss its importance and limitations. 
    

OR  
 b) Explain the various methods of collecting Primary and Secondary data.
  


10. a) From the following data, calculate Harmonic Mean. 
   

Class  0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40 

Frequency  5 10 15 20 16 9 4 8 

OR
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 b) Calculate Median from the following data.   


Class  0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency  2 8 16 20 30 24 16 12 7 5 


 

11. a) Compute Standard Deviation for the information given below.
  

Class  0-10 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency  4 10 12 9 15 8 5 

OR  
 b) Compute Bowley’s co-efficient of Skewness from the following data. 
  

Variable  10 20 30 40 50 60 70 80 90 

Frequency  16 20 29 49 61 42 23 8 2 

 
12. a) Calculate Karl Pearson’s co-efficient of Correlation for the following data.
  

Income in Rs.'000 
 12 14 16 18 20 22 24 26 28 30 

Saving in Rs.'000 
 6 7 8 9 10 11 12 13 14 15 

OR 
 b) Obtain the two Regression Equations for the following data and estimate the value of Y when X is 

20. 
  X Y
  

X 1 2 3 4 5 6 7 8 9 

Y 9 8 10 12 11 13 14 16 15 


13. a) Compute the trend values by the method of least squares from the data given below.

Year  2010-11 2011-12 2012-13 2013-14 2014-15 2015-16 2016-17 2017-18 

Output (tons) 
 5,500 5,800 6,100 6,200 6,400 6,700 6,800 7,200 

OR  
 b) Construct Fisher’s Ideal Index and test whether it satisfies both Time Reversal and Factor Reversal 

Tests. 
  
  

Commodity  𝑃0 𝑄0 𝑃1 𝑄1 
A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 9 30 10 24 

E 8 40 12 36 

 
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SEC-II 
Practice of Life Insurance 

Time: 1½ Hours        Max Marks: 40 
 

 

                                     Section - A (Short Answer Questions)                               2 x 5=10M 

Note:   Answer following questions in not exceeding 20 lines each.  



1. Explain the evolution and growth of Life Insurance. 


 

2. Is insurance better than investment in Mutual funds? Substantiate your answer. 

 

 

                    Section - B (Essay Answer Questions)                             2 x 15=30M 

Note: Answer any Two of the following questions in not exceeding 4 pages each. 




3. What is Life Insurance? Explain the Life Insurance Organization in India. 

 
 

4. Bring out the features of various Life Insurance Policies available in India. 

  

    

5. How does insurance help in individual financial planning and taxation? 

 

 

6. Explain the steps involved in settlement of an Insurance Claims. 

  

 
 
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SEC-I 
Principles of Insurance 

Time: 1½ Hours        Max Marks: 40 
 

 

                                     Section - A (Short Answer Questions)                                 2 x 5=10M 

Note:   Answer following questions in not exceeding 20 lines each.  
 
 


1. Explain the various types of Risks. 


 

2. What are the features of Annuities? 



 

                    Section - B (Essay Answer Questions)                             2 x 15=30M 

Note: Answer any Two the following questions in not exceeding 4 pages each. 

 

3. Define Insurance. Discuss the nature, scope and importance of Insurance. 

 

 

4. Explain the role of Insurance in economic development and social security. 

 

 

5. What is Insurance Contract? Discuss the principles important to ensure the validity of the insurance 

contract. 

 

 

6. Explain the features of products covering Marine and Transit Risks. 

   

 
 



Code: 778/ET/BL 

FACULTY OF COMMERCE 
B.Com., III-Semester (Backlog) Examinations, December-2020 

(SEC-I) 
Principles of Insurance 

Time: 1 ½ Hours        Max Marks: 40 
 

 
                                                     Section - A (Short Answer Type)                                  2 x 5=10M 

Note:   Answer the following questions in not exceeding 20 lines each.  


 
1. What is Risk? Briefly explain the various types of risks. 

Risk

 

2. Distinguish between Life Insurance Policies and General Insurance Policies. 

 

 
                    Section - B (Essay Answer Type)                         2 x 15=30M 

Note:   Answer the following questions in not exceeding 4 pages each. 

 
 

3. a) What is Insurance? Explain its evolution, nature and importance. 

 

OR  

  b) Discuss the role of Insurance in Economic Development and Social Security. 

   

 

4. a) Explain the various principles of Insurance in detail. 

 

OR  

  b) Describe the policies covering i) Marine and transit risks ii) Financial losses due to 

hospitalization. 

   
 

 

 
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Code: 780/ET/BL 

FACULTY OF COMMERCE 
B.Com. III-Semester (Backlog) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 
Income Tax-I 

Time: 2 Hours        Max Marks: 80 
 

 

Note: Answer any Four questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 

 

1. What is Tax? Explain the features and objectives of Tax. 
 

 
2. Explain the term Previous Year. What are the exceptions to the rule of Previous Year? 

 

 
3. What is Agricultural Income? Explain Partly Agricultural and Non Agricultural Incomes. 

 

 
4. Mrs. Rajani aged 56 years having Agricultural Income: Rs.4,00,000, Income from Salary: 

Rs.2,00,000; Income from House Property: Rs.3,00,000. Compute the Tax Liability for the 
Assessment Year 2018-19. 


 

 
5. Mr. Ramesh is working in Indian Railways at Chennai. He furnishes the following particulars of his 

income for the previous year 2017-18. 

 

 
(Rs.) 

Basic Pay  15,000 p.m.  

Dearness Allowance (Part of Salary)  
 9,000 p.m.  

Travelling Allowance (60% spent)  
 3,000 p.m.  

Children Education Allowance (for 3 children) 
 7,400 p.a.  

Entertainment Allowance  3,000 p.m.  

He is provided with a 1.8 litre C.C. Motor car with driver (expenses met by employer). 
Rent free accommodation owned by employer. Rent Fixed by Government: Rs.40,000 p.a.  
Cost of Furniture: Rs.1,20,000 


 
Professional Tax Paid  300 p.m.  

Compute Salary Income for the Assessment Year 2018-19. 
 
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6. Mr. Ragavender private employee draws the following emoluments. Compute income from salary for 

the assessment year 2018-19. 


 

 
(Rs.) 

 
Basic Pay  1,40,000 p.a. 

Dearness Allowance  56,000 p.a. 

Entertainment Allowance  28,000 p.a. 

He is provided with a Motor Car of 1.4 litre c.c. for both personal and 
official purpose and all expenses are met by the employer 

 
City Compensatory Allowance  6,700 p.a. 

House Rent Allowance  70,000 p.a. 

Rent Paid at Delhi  1,08,000 p.a. 

Children Hostel Allowance for 2 children  
 10,000 p.a. 

Uniform Allowance  5,000 p.a. 

Reimbursement of Medical expenses in Recognized Hospital 
 40,000 p.a. 

Professional Tax Paid  2,400 p.a. 

 

7. Ms.Suguna owner of a property constructed at Mahabubnagar on 31.8.2016. Particulars are 

furnished here under. 


 

 
(Rs.) 

Municipal Rental Value  5,60,000 
Fair Rental Value  5,90,000 
Standard Rental Value  6,75,000 
Actual Rental Value  9,00,000 
Unrealized Rent  2 Months 
Municipal Taxes   15,000 
Interest on Loan   89,000 
Preconstruction Interest  1,80,000 
Sewerage Tax (due)  7,000 
Education Cess  3,500 
Fire Insurance Premium  2,000 
50% Municipal Taxes paid by Tenant 
 

 Compute Income from House property for the Assessment year 2018-19. 

 
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8. Mr.Parameswar owns two houses in Bangalore. Compute the Gross Annual Value for the assessment 

year 2018-19. 


 

Particulars  House-A A House-B B 
Municipal Rental Value  7,65,000 8,75,000 

Fair Rental Value  5,65,000 9,95,000 

Standard Rental Value  7,75,000 8,75,000 

Actual Rental Value  9,80,000 8,70,000 

Loss due to Vacancy  72,000 65,000 

Unrealized Rent  68,000 75,000 

 

 

 

9. M/s. Ram& Company owns the following Assets. 

M/s. 

Assets  
W.D.V. as on 1.4.2017 

 

Rate 

 
(Rs.) (%) 

Factory Building  30,00,000 10 

Residential Building  12,00,000 5 

Plant & Machinery  16,00,000 40 

Furniture  8,00,000 10 

During the year, Residential Building was sold for Rs.14,00,000 and a part of machinery was sold for 

Rs.6,00,000. Calculate Depreciation. 


 
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10. Given below is the Receipts and Payments Account of Dr. Katrina a Medical Practitioner. Compute 

her professional income. 

 
Receipts  Rs. Payments  Rs. 

To Opening Balance 

To 1,00,000 

By Hospital Expenses 

By 80,000 

To Consultancy Fee 

To 1,10,000 

By Salaries 

By 75,000 

To Interest on Bank Deposits 

To 25,000 

By Books and Journals 

By 30,000 

To Dividends 

To 10,000 

By Donations 

By 30,000 

To Gifts from Patients 

To 45,000 

By Income Tax 

By 25,000 

To Examiners Fees 

To 75,000 

By Surgical Equipment 

By 38,000 

To Rent 

To 75,000 

By Medicines Purchased 

By 50,000 

To Operation Fee 

To 60,000 

By Shares Purchased 

By 53,000 

To Royalty on the Books 

To 75,000 

By Travelling Expenses 

By 35,000 

To Visiting Fee 

To 65,000 

By Life Insurance Premium 

By 7,000 

To Lecture Fee 

To 42,000 

By Subscription to Medical Council 

By 4,000 

To Sale of Medicines 

To 26,000 

By Telephone Expenses 

By 7,000 

    

By Balance C/d 

By 2,74,000 

  7,08,000   7,08,000 

Additional Information : 
i) Gifts include Rs.22,000 received from parents 

 
ii) Travelling expenses include Rs.12,000 relating to personal trip 

 

iii) Stock of medicines as on 31.3.2018 Rs.25,000 

 

 
 



Page ….1 of 3 

Code: 820/ET/BL 

FACULTY OF COMMERCE 
B.Com., IV-Semester (Backlog) Examinations, Sept./Oct.-2020 

(Common paper for General, Computers and Computer Applications) 

Income Tax-II 
Time: 2 Hours        Max Marks: 80 

 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 

 

1. From the following particulars you are required to calculate taxable capital gain. 
  

Assets  Residential House 

 
Urban Agricultural Land 

 
Equity Shares 

 
Cost of Purchase  1,00,000 8,00,000 3,00,000 

Date of Acquisition  10-03-1981 31-10-2013 10-10-2014 

Cost of Improvement 
 5,00,000 2,00,000 -- 

Date of Improvement 
 2010-11 2014-15 -- 

Transfer Price  40,00,000 32,00,000 9,00,000 

Value as per Stamp Duty Act. 
 70,00,000 -- -- 

Fair Market Value as on 01-04-81 
 1,20,000 -- -- 

Re-investment in the Same Asset 
 

10,00,000 5,00,000 2,00,000 
(New Residential House) 

 
(Rural Agricultural Land) 

 
(Bonds Issued by 

NHAI) 


 

Note :- CII for the years 
1981-82=100; 2010-11=711; 2013-14=939; 2014-15=1,024; 2016-17=1,125. 

 

2. In May 1986, Mr.Ram purchased gold for Rs.2,10,000. Sold this gold during the p.y. for 

Rs.31,15,000. He paid brokerage of Rs.15,000. He does not have residential house. So he 

purchased a new residential house in the p.y. for Rs.10,00,000. Compute his taxable capital gain 

for the A.Y. 2017-18. (CII for the years 1986-87=140;  2016-17=1,125). 

 



 

 

3. Mr.Singh has the following investments in the previous year. 
  

i) Rs.11,000- 10% Karnataka State Government Loan. 
 

ii) Rs.30,000- 13.5% Debentures of L&T Ltd. 
L&T
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iii) Rs.35,000- 11% Securities of Sugar Mill Co. (not listed). 


iv) Rs.32,000- 10% Tax-free commercial securities. 

 
v) Rs.3,580 interest received on Tamilnadu Government Securities. 

 
vi) Rs.4,500 interest received on securities of a Textile Company. 

 
On 1st December, 2016 he sold Rs.30,000 - 13.5% debentures of L&T Limited for Rs.40,000. On 

the same date he purchased Rs.60,000 - 10% debentures of Reliance Industries Ltd. For this 

purpose, he took a bank loan of Rs.20,000 @ 12% interest collection charges paid to the banker 

was Rs.300. He also paid brokerage of Rs.300 for the purchase of securities. Compute his taxable 

interest on securities for the A.Y. 2017-18. 

L&T



 

4. From the following particulars compute income from other sources of Mr.Z for the A.Y. 2017-18. 

 Z 
i) Dividends from an Indian Company Rs.12,000. 

 
ii) Dividends from a Foreign Company Rs.16,000. 

 
iii) Winnings from Horse Race (Net) Rs.17,780. 

  
iv) Family pension received (per month) Rs.3,000. 

  
v) Agricultural income from Bangladesh Rs.28,000. 

 
vi) Rent received from let out of plant and machinery Rs.55,000. Depreciation on Plant & 

Machinery Rs.12,000. 

 
vii) Rent from open plot Rs.3,000 per month. Municipal Taxes paid Rs.2,000 per annum. 





5. Briefly explain the various provisions regarding set-off and carry forward of losses. 

  
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6. The following are the income particulars of Mr.Ram. Compute his total income for the A.Y. 
  2017-18. 
 

 

  
(Rs.) 

i) Salary Received  3,75,000 

ii) 
Income from House Property (computed) 
 1,25,000 

iii) Income from Other sources  60,000 

iv) Interest on Securities  30,000 

 

His payments are as follows: 
:  

a) Life Insurance Premium Paid  10,000 

b) Deposit in NSC VIII Issue NSC VIII 20,000 

c) Investment in Units of UTI UTI 3,000 

d) Donation to National Defence Fund  5,000 

e) Medical Insurance Premium Paid  20,000 

 
7. Compute tax liability of Mr.Anand from the following particulars. 
  

  
(Rs.) 

i) Income from Business  3,75,000 

ii) Income from House Property  1,60,000 

iii) Long term Capital Gain  2,00,000 

iv) Income from Other Sources  60,000 

v) Life Insurance Premium Paid  8,000 

vi) Contribution to Pension Scheme U/S 80 ccc  
80 ccc 30,000 

vii) Medical Insurance Premium Paid  20,000 

viii) Qualified Savings U/S 80 C 
80 C 1,80,000 

 
8. Briefly explain the procedure for determining Alternate Minimum Tax U/S 115 JC. 
  U/S 115 JC 
 
9. Briefly explain various forms that are used by different individuals having different incomes for 

firing Income Tax Returns (ITR’s) 
ITRITR

 

10. What is meant by Assessment? Briefly explain various types of Assessment. 
 
 

 
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Code: 398/ET/YW/BL 

FACULTY OF COMMERCE 
B.Com., II-Year, (YW-Backlog) Examinations, Oct/Nov-2020 

(Common paper for General, Computers & Computer Applications) 

Taxation 
Time: 3 Hours      Max. Marks: 70 
 

          PART-A                        5 x 4=20M 

I. Answer any Five of the following questions not exceeding 20 lines each for theory questions. 


 

 

1. Indirect Taxes  
 

2. Net Wealth  
 

3. Recognized Provident Fund  
 

4. Compute gross annual value from the following information. 

M.R.V.: Rs.9,50,000; F.R.V.: Rs.10,00,000; S.R.V.: Rs.9,90,000; A.R.V.: Rs.12,00,000. 

Unrealized rent: 2 months. 





 

5. How will you deal with the following while computing business income? 

Donations: Rs.45,000; Registration Expenses of Business Assets: Rs.55,000; Sales Tax: Rs.20,000; 

Interest on Wife’s Loan: Rs.25,000. 





 

6. Short Term Capital Gain. 


 

7. From the following information, compute income from other sources for the Assessment Year 2018-19. 

 
a) Interest on tax-free debentures of listed company Rs.7,000. 

 
b) Dividends received from Indian company Rs.15,000. 

 
c) Winning from horse races Rs.3,50,000 (net). 

 
d) Collection charges Rs.35,000. 


 

8. Types of Excise Duties. 


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::2::                                      Code: 398/ET/YW/BL 
         PART-B                      5 x 10=50M 

II.  Answer the following questions in not exceeding 4 pages each, in case of theory questions. 

 

9. a) What is Previous Year? What are the general exception rule to the previous year? 
    

OR  
 b) Explain the exempted assets under section 5 of the Wealth Tax Act, 1957.
  
10. a) Mr. Rangachary is working in a private limited company at Hyderabad. He furnishes the following 

particulars of his income for the previous year 2017-18. 

 

 
(Rs.) 

 
Basic pay  3,74,000 

 
Dearness allowance  75,000 

 
Leave encashment  45,000 

 
Children hostel allowance (for 4 children)  
 18,000 

 

House rent allowance  45,000 
 

Rent paid by him  53,000 
 

Free lunch for 300 days, each meal costing (per day) 
 90 

 

He is provided 1.4 litre C.C. motor car with driver (expenses met by employer) 
 
Professional tax paid  2,400 

 
Compute salary income for the assessment year 2018-19. 
 

OR  
 b) Sri Suryanarayana having two houses at Hyderabad and the particulars are hereunder. 

   

Particulars  House-A 
 A 

House-B 
 B 

Municipal Rental Value  6,50,000 7,50,000 

Fair Rental Value  8,25,000 8,00,000 

Standard Rental Value  9,00,000 6,00,000 

Actual Rental Value  9,00,000 
Self Occupied 
 

Interest on Loan  65,000 70,000 

Preconstruction Interest  60,000 80,000 

Municipal Taxes (50% due)  10% 12% 

Education Cess  2,500 2,000 

Sewerage tax  2,000 3,500 

Date of Construction  20.7.2015 28.8.2016 

  Compute Income from House Property for the assessment year 2018-19. 
    



Page ....3 of 4 



Code: 398/ET/YW/BL 
::3:: 

    

11. a) Mrs. Usha is a Medical Practitioner. She submitted the following Receipts and Payments Account for 

the year ending 31.3.2018. 


 
Dr. 

  
Cr. 

Receipts  Rs. Payments  Rs. 

To Opening Balance 

To 80,000 
By Staff Salaries 

By 60,000 

To Consultation Fees 

To 90,000 
By Books and Magazines 

By 25,000 

To Dividends 

To 25,000 
By Medicines Purchased 

By 45,000 

To Lecture Fees 

To 65,000 
By Printing & Stationery 

By 5,000 

To Operation Fees 

To 75,000 
By Telephone Expenses 

By 8,000 

To Gifts from Patients 

To 65,000 
By Surgical Equipment 

By 65,000 

To Rent 

To 30,000 
By Donations 

By 15,000 

To Visiting Fees 

To 55,000 
By Motor Car Expenses 

By 35,000 

To Sale of Medicines 

To 25,000 
By Income Tax 

By 15,000 

    
By Travelling Expenses 

By 59,000 

    
By Balance (c/d) 

By 1,78,000 

  5,10,000   5,10,000 

Other Information : 
i) Gifts include Rs.35,000 received from her Brother-in-Law. 

 
ii) Depreciation on Surgical Equipment @ 15%. 

 
iii) Closing Stock of Medicines as on 31.3.2018 Rs.12,000. 

 
iv) Travelling expenses include Rs.25,000 on her personal trip to Ooti. 

 
Compute her Professional Income for the Assessment Year 2018-19. 

 
OR 



Page ....4 of 4 



Code: 398/ET/YW/BL 
::4:: 



 b) From the information given below compute taxable Capital Gains. 

    

Particulars  
Gold  Jewellery 

 
Shares of X Limited 

X 

Date of Acquisition  1.4.1979 31.12.2013 

Cost of Acquisition  1,30,000 (F.M.V. 1,75,000) 3,75,000 

Date of Transfer  31.08.2016 31.12.2016 

Transfer Consideration  19,00,000 9,50,000 

Transfer Expenses  14,000 10,000 

Reinvestment in the same asset  

 6,00,000 4,50,000 

CII 100 939 

   CII 2016-17: 1,125. 

 

12. a) Mr.Subramanyam furnishes the following information relating to the financial year ending 31.3.2018. 

Compute total income and tax liability for the A.Y. 2018-19. 


 

 
(Rs.) 

Salary Received  5,10,000 

Loss from House Property  1,45,000 

Business Profits  6,85,000 

Loss from Speculation Business  2,50,000 

Long Term Capital Loss  1,70,000 

Short Term Capital Gain  3,56,000 

Interest on Bank Deposits  52,000 

Interest on Govt. Securities  19,000 

Directors Remuneration  65,000 

OR 
 b) State the functions of the Central Board of Direct Taxes. 

   

13. a) Explain the procedure for registration under the A.P.VAT Act, 2005. 

  A.P.VAT 
OR  

 b) What is Service Tax? Explain the 8 services mentioned in the negative list u/s 66 D of the Service 

Tax. 

   u/s 66 D

 
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Code: 821/ET/BL 

FACULTY OF COMMERCE 
B.Com., IV-Semester (Backlog) Examinations, Sept./Oct.-2020 

(Common paper for General, Computers and Computer Applications) 
Business Statistics-II 

Time: 2 Hours        Max Marks: 80 
 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 
 

 

1. What are Regression Lines? Why it is necessary to consider two lines of regression? In case the 

lines are identical, prove that correlation coefficient is 1 or -1. 



 

2. Calculate two regression coefficients and find out the values of correlation from the following data: 

  
X 10 12 15 23 20 22 

Y 14 17 23 25 21 24 
 

 

3. Test whether the following data satisfy both time reversal and factor reversal tests in case of 

fisher’s Ideal formula. 



 

Commodity  𝑃o 𝑄o 𝑃1 𝑄1 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

 
 

4. Calculate the Index Numbers for the year 2017-18 with 2012-13 as base from the following data 

using weighted average of price relatives: 



 

Commodity  Weight  Price in 2012-13 (Rs.) 
 

Price in 2017-18 (Rs.) 
 

P 44 5.00 12.40 

Q 96 6.60 8.80 

R 34 12.50 25.50 

S 26 1.30 1.80 
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5. The following are the annual profits in a certain business: 

 
Years  2010-11 2011-12 2012-13 2013-14 2014-15 2015-16 2016-17 

Profits (Rs. in ‘000) 
 60 70 75 80 85 88 92 

By the method of Least Squares, fit a straight line trend and estimate the profits for 2019-20. 



 

6. Calculate seasonal indices by the ratio to moving average method from the following data: 

  

Year  Quarter-I 
I 

Quarter-II 
II 

Quarter-III 
III 

Quarter-IV 
IV 

2014-15 2 3 4 5 

2015-16 6 7 8 9 

2016-17 8 9 10 11 

 

7. Define Probability. Discuss the various theorems of probability. 


 

8. An institute wants to appoint 12 lecturers. There are 80 applicants of which 50 are men and 30 are 

women. What is the probability that: 

 
 
i) All men to be appointed  
ii) All women to be appointed  
iii) 6 men and 6 women to be appointed  


 

9. Fit a Poisson Distribution to the following data and calculate theoretical frequencies: 

 
X 0 1 2 3 

Y 123 59 14 3 

 

10. In an institution, 2.28% employees have income below Rs.9,000 and 15.8% have income above 

Rs.15,000 per month. Assuming the distribution of income to be normal, find the mean and 

standard deviation of incomes. 



 

 
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Code: 821/ET/R 

FACULTY OF COMMERCE 
B.Com., IV-Semester (Regular) Examinations, December-2020 

(Common paper for General, Computers and Computer Applications) 
Business Statistics-II 

Time: 2 Hours        Max Marks: 80 
 

 
Note: Answer any FOUR questions not exceeding 4 pages each, in case of theory questions.  


4 x 20=80M 
 
 

 

1. From the following data, obtain the two regression equations: 

 
X: 6 2 10 4 8 12 15 

Y: 9 11 5 8 7 6 4 

 

2. By using the following information, obtain two regression equations of X on Y and Y on X: 

YXXY 

 
X Y 

Arithmetic Mean  22.5 18.8 

Standard Deviation  2.87 1.4 

  Coefficient of Correlation : 0.97 

 

3. Test whether the following data satisfy both Time Reversal and Factor Reversal Tests in case of 

Fisher’s Ideal formula. 


 
Commodity  

 
2017-18 Qty. (units) 

 
2018-19 Qty. (units) 

 Price  (Rs.) Price  (Rs.) 

A 350 100 400 125 

B 400 120 425 140 

C 275 150 350 200 

D 500 50 525 75 

 

4. Construct Quantity Index Number for the data given, taking 2015-16 as base: 

 

Items 
Price in 2015-16 

 
Quantities (Kgs.) 

 
 (Rs.) 2015-16 2016-17 2017-18 2018-19 

A 10 18 22 22 25 

B 15 16 20 22 25 

C 12 25 30 32 35 

D 25 20 25 28 35 

E 20 15 10 12 15 
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5. Fit a straight line trend for the following data by the method of least squares: 

 
Year : 2012-13 2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 

Sales (Rs. in lakhs): 

 77 88 94 85 91 98 90 

 

6. What is Time Series? Explain the methods to measure various components of time series.  

 
 

7. Define Probability. Discuss the different theorems of probability. 

 
 

8. Assume that 1% of the population has X disease. A screening test accurately detects the disease 

for 90% of people with it. The test also indicates the disease for 15% of the people without it. 

Suppose a person screened for the disease tests positive. What is the probability they have it? 

X

 

 

9. Sarma has not prepared for the upcoming exam. Exam is completely based on multiple choice 

questions with 5 options for each question and only one correct answer. There are 30 questions in 

the exam and he attempted all questions. 



 
i) What is the probability that exactly 17 questions are correct? 

 

ii) What is the probability that at least 2 questions are wrong? 

 

 

10. Marks in an examination are approximately normally distributed with mean 75 and standard 

deviation 5. If the top 5% of the students get grade A and the bottom 25% get grade F, what 

mark is the lowest A and what mark is the highest F? 


AFA
F 

 

 



 
Code: 911/ET/BL 

FACULTY OF COMMERCE 
B.Com., V -Semester (Backlog) Examinations, Sept./Oct.-2020 

SEC-III 
Practice of General Insurance 

Time: 2 Hours        Max Marks: 40 
 

                                                     Part - A (Short Answer Type)                                         2 x 5=10M 

Note:   Answer any TWO questions in not exceeding 20 lines each.  
 
 


1. State the importance of General Insurance in an economy. 


 

2. Distinguish between Indian and International General Insurance Markets. 


 

3. What are the different types of reserves in General Insurance Companies? 


 

4. Bring out the features of mortality table. 

 

 

                    Part - B (Essay Answer Type)                                  2 x 15=30M 

Note:   Answer the following questions in not exceeding 4 pages each. 

 

5. a) Explain the different types of policy conditions imposed by insurance service providers. 

 

OR  

  b) Discuss the various products of General Insurance. 

   

 

6. a) Describe the basic objectives and process of underwriting of Insurance Contract. 

 

OR  

  b) Define Risk. Discuss the various methods of handling risk. 

    

 

 
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FACULTY OF COMMERCE 
B.Com., V-Semester (Regular) Examinations, February/March-2022 

Computerized Accounting 
Time: 3 Hours        Max Marks: 50 

 

Section - A (Short Answer Questions)                               5 x 2=10M 

Note:  Answer any Five of the following questions not exceeding 20 lines each.  
 

1. Ledger Accounts 
 

 
2. Creation of Stock Item 

 
 

3. ERP Stock 
ERP 
 

4. Sales Voucher- F8 
 F8 

 
5. Entering Credit Note in Tally 

Tally 

 
6. Order Entry 

 
 

7. Bill-wise Details 

 

8. Data Integration 
 

 

Section - B (Essay Answer Questions)                            5 x 8=40M 

Note:  Answer any Five of the following questions in not exceeding 4 pages each. 


 
9. “The Chart of Accounts is the blueprint of the accounts in an organization.” How to prepare them in 

ERP? 

ERP 

 

10. What is ERP? Explain the salient features of Tally. ERP9. 

ERP TallyERP9 
 

11. Explain in detail the creation of Inventory Masters in ERP. 

ERP 
 

12. How to view category wise stock reports in Tally. ERP9? 

Tally. ERP9  
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13. Briefly explain the recording of day to day transactions in ERP. 

ERP 
 

14. State how record receipt voucher, payment voucher and contra voucher in ERP. 

ERP 
 

15. What is Accounts Receivable? How are they managed in ERP? 

ERP 

 

16. Distinguish between management of Accounts Receivables and Accounts Payable in ERP. 

ERP 
 

17. What do you mean by MIS reports? What are its types? Explain the steps involved in preparing MIS 

reports in Tally. ERP9. 

MISTally. ERP9 MIS


 

18. “MIS reports are reports required by the management to assess the performance of the 

organization and allow for faster decision-making.” Explain with reference to ERP. 

MIS
ERP 
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FACULTY OF COMMERCE 
B.Com., III-Year, (YW-Backlog) Examinations, Oct/Nov-2020 

Cost Accounting 
Time : 3 Hours               Max. Marks : 70 

          PART-A                         5X4=20M 

I. Answer any Five of the following questions at one place not exceeding 20 lines each for theory questions. 


 
1. State the nature of Cost Accounting. 

 
2. Differentiate between Time Keeping and Time Booking. 

 
3. Illustratively show the Marginal Cost Equation. 

 
4. What are various types of Standards? Explain in brief. 

 
5. From the following information, find out the overhead absorption rates under cost and hours methods. 

 
Material Cost : Rs.80,000 

Labor Cost : Rs.40,000 

Direct Labour Hours : 6,000 

Machine Hours : 8,000 

Factory Overheads to be absorbed : Rs.24,000 

6. Prepare reconciliation statement and ascertain the profit as per financial books from the following details. 

 

 
(Rs.) 

Net profit as per Cost Books  37,900 

Dividends paid not included in Cost Books  
 3,450 

Income tax provided shown in Financial Books  
 12,300 

Over valuation of opening stock in Cost Books  
 4,780 

Under valuation of closing stock in Cost Books  
 1,980 

7. From the given information, find out Profit Volume Ratio and Profit.  
 

 
(Rs.) 

Contribution  20,000 
Variable Cost  40,000 
Fixed Cost  10,000 

8. Calculate Labour Cost Variance from the following: 
 
Standard labour hours : 2,000 

Standard wage rate : Rs.40 per hour 

Actual labour hours : 2,100 

Actual wage rate : Rs.50 per hour 
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         PART-B                      5X10=50M 

II.  Answer the following questions in not exceeding 4 pages each, in case of theory questions. 



 
9. a) Define Cost Accounting. What are its objectives? How is it installed in an organization? 

   

OR 
 b) How are Costs Classified? Explain in detail. 

   
 

10. a) From the following data, calculate the total monthly remuneration of three workers A, B and C. 

 A, B  C 
Standard Production per month per worker: 1,000 units. 

 
Actual production : A:850 units, B: 720 units, C: 960 units. 

Rate per piece : Rs.20 

Dearness wages per month : Rs.6,000 fixed. 

House Rent Allowance per month : Rs.1,000 fixed 

Time Allowance : Rs.500 per month fixed  

Additional production bonus is Rs.50 per each percentage of actual production exceeding 80% of 

the standard. 

 
OR  

 b) A company has three production departments A, B and C and two service departments X and Y. The 

overhead distribution summary gives the following details. 

  A, B, CX, Y
 

 

(Rs.) 

A 630 

B 740 

C 280 

X 450 

Y 200 

  The expenses of service departments are to be distributed using the following bases of 

apportionment. 

   

 

A B C X Y 

X 40% 30% 20% --- 10% 

Y 30% 30% 20% 20% --- 

  Prepare secondary distribution summary under repeated distribution method and simultaneous 

equation method. 

  
   
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11. a) PQR Transport Company owns a fleet of taxis and the following information is available from the 

records maintained by it. You are required to calculate cost per kilometer.

PQR


Number of Taxis : 2 

 

(Rs.) 

Cost of each taxi  4,00,000 

Salary of manager p.m.  6,000 

Salary of accountant p.m.  5,000 

Salary of cleaner p.m. per taxi  2,000 

Salary of mechanic p.m.  4,000 

Annual tax per taxi  6,000 

Driver's salary p.m. per taxi  3,000 

Annual repairs per taxi  10,000 

Garage rent p.m. per taxi  6,000 

Insurance premium p.a. 5% of cost of taxi. 


The life of each taxi is about 2,00,000 kms. A taxi runs in all 6,000 kms in a month of which 20% is 

empty. Petrol consumption is one liter for 10 kms @ Rs.75 per liter. Oil and other sundries are Rs.50 

per 100 kms. 

  
  
   

OR  
 b) Akshara Constructions Ltd. took a contract on 1st April, 2017 for road construction. The contract 

price was Rs.10,00,000. At the end of year 2017-18, the company has received Rs.3,60,000 

representing 90% of the work certified. Work not yet certified has cost Rs.10,000. 

  Expenditure incurred on the contract during the year was as follows:  

  Materials: Rs.50,000; Labor: Rs.3,00,000; Plant: Rs.20,000. 

  Materials costing Rs.5,000 were damaged and had to be disposed of for Rs.1,000. Plant is 

considered as having depreciated by 25%. Prepare Contract Account for the year ended 2017-18 in 

the books of the company and also show all possible figures that can be reasonably credited to 

Profit and Loss Account in respect of the contract. 

  
  
  
  
  
  
   
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12. a) From the following details find out : 

i) P/V Ratio P/V 
ii) BEP 

iii) Net profit from sales of Rs.3,00,000 

 

iv) Sales required to earn a profit of Rs.70,000 

 

 

(Rs.) 

Sales  2,00,000 

Variable Cost  1,50,000 

Fixed Cost  15,000 

OR  
 b) The P/V ratio of Nivi Limited is 25% and the margin of safety is 20%. Work out the net profit and 

the Break Even Point at the sales volume of Rs.50,000. 

  P/V
   
13. a) Define Standard Costing. Discuss its importance in manufacturing concerns.


OR  

 b) From the following details, calculate Material Price, Material Usage and Material Cost Variances. 

   
  Standard : 
  Materials required for 70 kgs of finished products: 100 kgs 

   
  Price of materials : Rs.1 per kg 

  Actual : 
  Output : 2,10,000 kgs 

  Materials used : 2,80,000 kgs 

  Cost of materials : Rs.2,52,000 

 
 
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FACULTY OF COMMERCE 
B.Com., III-Year, (YW-Backlog) Examinations, Oct/Nov-2020 

Cost Accounting 
Time : 3 Hours               Max. Marks : 70 

          PART-A                         5X4=20M 

I. Answer any Five of the following questions at one place not exceeding 20 lines each for theory questions. 


 
1. State the nature of Cost Accounting. 

 
2. Differentiate between Time Keeping and Time Booking. 

 
3. Illustratively show the Marginal Cost Equation. 

 
4. What are various types of Standards? Explain in brief. 

 
5. From the following information, find out the overhead absorption rates under cost and hours methods. 

 
Material Cost : Rs.80,000 

Labor Cost : Rs.40,000 

Direct Labour Hours : 6,000 

Machine Hours : 8,000 

Factory Overheads to be absorbed : Rs.24,000 

6. Prepare reconciliation statement and ascertain the profit as per financial books from the following details. 

 

 
(Rs.) 

Net profit as per Cost Books  37,900 

Dividends paid not included in Cost Books  
 3,450 

Income tax provided shown in Financial Books  
 12,300 

Over valuation of opening stock in Cost Books  
 4,780 

Under valuation of closing stock in Cost Books  
 1,980 

7. From the given information, find out Profit Volume Ratio and Profit.  
 

 
(Rs.) 

Contribution  20,000 
Variable Cost  40,000 
Fixed Cost  10,000 

8. Calculate Labour Cost Variance from the following: 
 
Standard labour hours : 2,000 

Standard wage rate : Rs.40 per hour 

Actual labour hours : 2,100 

Actual wage rate : Rs.50 per hour 
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         PART-B                      5X10=50M 

II.  Answer the following questions in not exceeding 4 pages each, in case of theory questions. 



 
9. a) Define Cost Accounting. What are its objectives? How is it installed in an organization? 

   

OR 
 b) How are Costs Classified? Explain in detail. 

   
 

10. a) From the following data, calculate the total monthly remuneration of three workers A, B and C. 

 A, B  C 
Standard Production per month per worker: 1,000 units. 

 
Actual production : A:850 units, B: 720 units, C: 960 units. 

Rate per piece : Rs.20 

Dearness wages per month : Rs.6,000 fixed. 

House Rent Allowance per month : Rs.1,000 fixed 

Time Allowance : Rs.500 per month fixed  

Additional production bonus is Rs.50 per each percentage of actual production exceeding 80% of 

the standard. 

 
OR  

 b) A company has three production departments A, B and C and two service departments X and Y. The 

overhead distribution summary gives the following details. 

  A, B, CX, Y
 

 

(Rs.) 

A 630 

B 740 

C 280 

X 450 

Y 200 

  The expenses of service departments are to be distributed using the following bases of 

apportionment. 

   

 

A B C X Y 

X 40% 30% 20% --- 10% 

Y 30% 30% 20% 20% --- 

  Prepare secondary distribution summary under repeated distribution method and simultaneous 

equation method. 

  
   
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11. a) PQR Transport Company owns a fleet of taxis and the following information is available from the 

records maintained by it. You are required to calculate cost per kilometer.

PQR


Number of Taxis : 2 

 

(Rs.) 

Cost of each taxi  4,00,000 

Salary of manager p.m.  6,000 

Salary of accountant p.m.  5,000 

Salary of cleaner p.m. per taxi  2,000 

Salary of mechanic p.m.  4,000 

Annual tax per taxi  6,000 

Driver's salary p.m. per taxi  3,000 

Annual repairs per taxi  10,000 

Garage rent p.m. per taxi  6,000 

Insurance premium p.a. 5% of cost of taxi. 


The life of each taxi is about 2,00,000 kms. A taxi runs in all 6,000 kms in a month of which 20% is 

empty. Petrol consumption is one liter for 10 kms @ Rs.75 per liter. Oil and other sundries are Rs.50 

per 100 kms. 

  
  
   

OR  
 b) Akshara Constructions Ltd. took a contract on 1st April, 2017 for road construction. The contract 

price was Rs.10,00,000. At the end of year 2017-18, the company has received Rs.3,60,000 

representing 90% of the work certified. Work not yet certified has cost Rs.10,000. 

  Expenditure incurred on the contract during the year was as follows:  

  Materials: Rs.50,000; Labor: Rs.3,00,000; Plant: Rs.20,000. 

  Materials costing Rs.5,000 were damaged and had to be disposed of for Rs.1,000. Plant is 

considered as having depreciated by 25%. Prepare Contract Account for the year ended 2017-18 in 

the books of the company and also show all possible figures that can be reasonably credited to 

Profit and Loss Account in respect of the contract. 

  
  
  
  
  
  
   
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12. a) From the following details find out : 

i) P/V Ratio P/V 
ii) BEP 

iii) Net profit from sales of Rs.3,00,000 

 

iv) Sales required to earn a profit of Rs.70,000 

 

 

(Rs.) 

Sales  2,00,000 

Variable Cost  1,50,000 

Fixed Cost  15,000 

OR  
 b) The P/V ratio of Nivi Limited is 25% and the margin of safety is 20%. Work out the net profit and 

the Break Even Point at the sales volume of Rs.50,000. 

  P/V
   
13. a) Define Standard Costing. Discuss its importance in manufacturing concerns.


OR  

 b) From the following details, calculate Material Price, Material Usage and Material Cost Variances. 

   
  Standard : 
  Materials required for 70 kgs of finished products: 100 kgs 

   
  Price of materials : Rs.1 per kg 

  Actual : 
  Output : 2,10,000 kgs 

  Materials used : 2,80,000 kgs 

  Cost of materials : Rs.2,52,000 

 
 
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FACULTY OF COMMERCE 
B.Com., V-Semester (Regular) Examinations, February/March-2022 

Paper- Generic Elective (A) 
Business Economics 

Time: 3 Hours        Max Marks: 80 
 

 

 
Section - A (Short Answer Questions)                              5 x 4=20M 

Note:  Answer any Five of the following questions not exceeding 20 lines each. 
 

 
1. Nature of Business Economics 

 

 

2. Micro Economics 

 

 

3. Income Demand 

 
 

4. Equilibrium 

 

 

5. Supply Curve 

 

 

6. Isocost 

 
 

7. Margin of Safety 

 
 

8. Economic Cost 

 

 

 
Section - B (Essay Answer Questions)                           4 x 15=60M 

Note:  Answer any Four of the following questions in not exceeding 4 pages each. 


 
9. Define Business Economics. Discuss its Characteristics, Objectives, Scope and Importance. 

 
 

10. Describe the Law of Equi-Marginal Utility with the help of diagram. 
 
 

 
 
 



Code: 880/ET/R 

Page..2 of  2 

 
::2:: 

 
11. Why does Demand Curve slope downward to the right? State the exceptions to the Law of Demand. 

 
 

12. How is Price Elasticity of Demand measured by using Arc and Point methods? 

 

 

13. Discuss the Theory of Consumer Behaviour with the help of an illustration. 

 
 

14. What do you mean by Indifference Curve Analysis? Explain its Properties, Assumptions and 

Importance. 

 
 

15. Distinguish between Economies of Scale and Diseconomies of Scale. How do they affect firms? 


 

 

16. Define Production Function. Discuss its Features, Functions and Importance. 

 
 

17. Describe the relationship between Marginal and Average Revenues with the help of diagram. 

 
 

18. What is Break-Even Analysis? Explain its assumptions, calculation, utility and limitations. 

 

 
 
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FACULTY OF COMMERCE 
B.Com (General), III-Year, (YW-Backlog) Examinations, October-2020 

Cost and Management Accounting 
 
 

Time : 3 Hours               Max. Marks : 70 

          PART-A                       5X4=20M 

I. Answer any Five of the following questions not exceeding 20 lines each for theory questions. 


 

 

1. Differentiate between Cost, Price and Quotation. 

 

2. State the Accounting Treatment of Normal and Abnormal Loss. 

 

3. What do you mean by Primary Distribution Summary? How is it prepared? 


 

4. Calculate profit in each of the following cases. 

i) Cost of Sales Rs.20,000 and Profit 20% on Sales. 

 
ii) Sales Rs.20,000 and Profit 20% on Cost. 


 

5. Find out EOQ from the following information. 
EOQ 
Annual Consumption of Material : 12,000 kgs. 

Ordering Cost per Order : Rs.40 

Cost per Kilogram of Material : Rs.20. 

Storage Cost: 5% of Inventory. 
 

6. From the following information, find out the cash flows from Financing Activities. 
 

 
(Rs.) 

Purchase of Fixed Assets  3,45,000 

Expenses on Building  2,00,000 

Increase in Investments  1,00,000 

Sale of Old Machine  35,000 

7. The P/V ratio is 50% and the margin of safety is 40%. Find out BEP and the net profit, if sales volume 
is Rs.50,00,000. 
P/VBEP

 

8. A Company has Total Assets of Rs.3,00,000, Fixed Assets: Rs.1,50,000, Capital Employed: Rs.2,70,000. 
Calculate Current Ratio. 



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         PART-B                     5X10=50M 

II. Answer the following questions in not exceeding 4 pages each, in case of theory questions. 

 

9. a) Distinguish between Financial Accounting, Cost Accounting and Management Accounting. 
 

(OR) 
 b) Explain in detail the various methods and techniques of Costing. 
   

10. a) On the basis of the following information, calculate the earnings of workers A,B,C and D under 
Straight Piece Rate System and Taylor’s Differentials (with low piece rate 80% and high piece rate 
120% of ordinary piece rate) Piece Rate System. 
A,B,C,D
 
Standard Production per hour : 60 units 

Normal Rate per unit : Rs.12 

Actual production in a day of 8 hours : 
A: 50 units; B: 54 units; C: 60 units and D: 64 units. 

(OR) 
 b) Avyukth Limited has three production departments P, Q and R and two service departments M and 

N. The overhead distribution summary gives the following details. 
   P, Q, R M, N
   

 
P Q R M N 

(Rs.) 8,000 7,000 5,000 2,340 3,000 
  The expenses of service departments are to be distributed on the following bases. 
   

 
P Q R M N 

M 30% 40% 20% --- 10% 
N 30% 30% 20% 20% --- 

  Prepare secondary distribution summary under simultaneous equation method. 
   
11. a) The following information relates to a building contract for Rs.5,00,000.



 
2016-17 2017-18 

 
(Rs.) (Rs.) 

Materials Issued 1,50,000 42,000 

Direct Wages  1,65,000 50,000 

Direct Expenses  11,000 6,000 

Indirect Expenses  3,000 1,000 

Work Certified  4,00,000 5,00,000 

Work Uncertified  4,000 --- 

Materials at Site  2,500 2,000 

Plant Issued  7,000 5,000 

Cash Received  3,00,000 5,00,000 

Plant Value at the end  5,000 2,000 

Prepare Contract Accounts for two years. 


(OR) 
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 b) The following extracts of costing information relate to commodity X for the year ending 31st March, 2018. 
  X 

 
(Rs.) 

Purchase of Raw Materials  12,000 

Direct Wages  10,000 

Factory Overheads  4,000 

Carriage Inwards  200 

Stock (1.4.2017)  
 

Raw Materials  2,000 

Finished Products- 200 tons  1,600 

Stock (31.3.2018)  
 

Raw Materials  2,200 

Finished Products- 400 tons  
 

Administrative Overheads  800 

  Advertising and selling cost is Rs.1 per ton sold. 3,000 tons of the commodities were produced 
during the year. Selling price was @ Rs.15 per unit. Prepare a statement of cost. 

  
  
12. a) Sindhu Ltd., provides you the following information. 

 

1st half of the year 
 

2nd half of the year 
 

 
(Rs.) (Rs.) 

Total Sales   30,00,000 12,00,000 

Profit   6,00,000        --- 

Loss  --- 3,00,000 

From the above information calculate : 
i) P/V Ratio P/V, 
ii) Fixed Cost for the year ,  
iii) Breakeven point for the year BEP, 
iv) Profit when sales are Rs.40,00,000 and  
v) Sales required to earn a profit of Rs.10,00,000.  

(OR)
 b) Define Standard Costing. Discuss the objectives, importance and limitations of Standard Costing. 
   
13. a) From the following particulars, prepare Balance Sheet of a Company. 

 
Sales/ Total Assets : 3 

Sales/ Fixed Assets : 5 

Sales/ Current Assets : 7.5 

Sales/ Inventories : 20 

Sales/ Debtors : 15 ;   Current Ratio : 2 

Total Assets/ Net Worth : 2.5 

Debt/ Equity : 1 ;   Sales : Rs.36,00,000. 

(OR) 
 b) What is the need for analysis of Financial Statements? Describe the various techniques of Financial 

Statement Analysis.   
 
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Code: 409/ET/YW/BL 

FACULTY OF COMMERCE 

B.Com., III-Year, (YW-Backlog) Examinations, October/November-2020 
Management Accounting and Control 

 

Time: 3 Hours               Max. Marks: 70 

          PART-A                       5X4=20M 

I. Answer any Five of the following questions at one place not exceeding 20 lines each for theory questions. 


 

 

1. Explain the scope of Management Accounting. 
 

2. Explain the significance of Debt-Equity Ratio. 
 

3. Define the term “Financial Statement”. 
 

4. What is Budgetary Control? 

 

5. From the following information prepare Vertical Income Statement. 
Sales: Rs.5,00,000; Purchases: Rs.1,00,000; Operating Stock: Rs.50,000; Closing Stock: Rs.75,000; 
Operating Expenses: Rs.20,000; Non Operating Expenses: Rs.10,000; Rate of Tax: 50%. 



 

6. Calculate Funds From Operations. 
 

 
(Rs.) 

Profit and Loss A/c balance on 1.4.2017  84,000 

Profit and Loss A/c balance on 31.3.2018  1,76,000 

Profit on sale of Machinery  26,000 

Transfer to general reserve  39,000 

Depreciation on Plant and Machinery  48,200 

7. Calculate cash generated from operations. 
Purchases: Rs.3,00,000; Sales: Rs.4,00,000; Expenses: Rs.40,000; Creditors at the beginning of the 
year: Rs.60,000; Creditors at the end of the year: Rs.80,000 


 

8. From the following particulars, prepare a production budget for the year ended 31st March, 2018. 
 

Product  

Sales unit as per 
Sales Budget 


 

Estimated Stock units 
 

1st April, 2017 31st March, 2018 

P 74,500 7,000 7,500 
Q 50,000 2,500 12,500 
R 35,000 5,000 10,000 
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::2::                                                   Code: 409/ET/YW/BL 

PART-B                       5X10=50M 

II. Answer the following questions not exceeding 4 pages each, in case of theory questions. 
 

9. a) What is Management Accounting? Discuss its advantages and limitations. 
 

OR  
 b) Explain the steps involved in the installation of Management Accounting System. 
   

10. a) From the following information, prepare a comparative statement and comment on the profitability.


Particulars  31.3.2018 31.3.2018 
(Rs.) (Rs.) 

Net Sales  1,570 1,800 

Cost of Goods Sold  900 1,000 

Administrative Expenses  140 144 

Selling and Distribution Expenses  160 180 

Interest paid  50 60 

Income Tax  140 160 

OR 
 b) From the following balance sheet of Radha Ltd. prepare common size balance sheet and study its 

financial position. 
   

Liabilities  2017 2018 Assets  2017 2018 

(Rs.) (Rs.) (Rs.) (Rs.) 

Share Capital  20,000 24,000 Buildings  25,000 28,000 

Capital Reserve  1,800 3,700 Land  3,960 6,900 

General Reserve  19,000 9,000 Furniture  1,540 2,100 

Sinking Fund  1,800 2,000 Debtors  9,000 7,800 

Debentures  9,000 13,000 Stock  6,400 5,000 

Creditors  4,000 3,000 Cash  4,000 300 

Bills Payable  300 400 Investments  6,000 5,000 

  55,900 55,100   55,900 55,100 

11. a) The following is the balance sheet of Krishna Company Ltd., as on 31.3.2017.


Liabilities  (Rs.) Assets  (Rs.) 

Share Capital  4,00,000 Land & Buildings  2,80,000 

Profit and Loss A/c  60,000 Machinery  7,00,000 

General Reserve  80,000 Stock  4,00,000 

12% Debentures  8,40,000 Sundry Debtors  2,00,000 

Sundry Creditors  2,00,000 Bills Receivable  20,000 

Bills Payable  1,00,000 Cash at Bank  80,000 

  16,80,000   16,80,000 

  Calculate the following ratios : 
i) Current Ratio  
ii) Quick Ratio  
iii) Debt-Equity Ratio  

iv) Proprietary Ratio  
v) Capital Gearing Ratio  

OR 
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 b) Find out the following ratio from the given information. 

   
i) Gross Profit Ratio ;  
ii) Net Profit Ratio ;   
iii) Operating Ratio ;   
iv) Operating Profit Ratio ; 
v) Rate of Return on Capital Employed . 

  Gross Profit: Rs.6,00,000; Net Sales: Rs.9,00,000; Profit After Tax: Rs.1,85,000; Operating 

Expenses: Rs.5,40,000; Profit Before Interest and Tax: Rs.3,60,000; Capital Employed: 

Rs.16,50,000.  

  
  
   
12. a) From the following Balance Sheets of Bharat Company Ltd., prepare Funds Flow Statement.


Liabilities  2017 2018 Assets  2017 2018 

Share Capital  2,40,000 3,60,000 Buildings  1,66,200 3,39,600 

Share Premium  24,000 36,000 Machinery  1,06,800 1,53,900 

General Reserve  18,000 27,000 Furniture  7,200 4,500 

Profit & Loss A/c  58,500 62,000 Stock  66,300 78,000 

8% Debentures   --- 78,000 Debtors  1,09,500 1,17,300 

Provision for Tax  29,400 32,700 Cash at Bank  
 
  

14,400 
  

12,000 
  Creditors  1,00,500 1,09,600 

  4,70,400 7,05,300   4,70,400 7,05,300 

Provide depreciation on machinery Rs.38,400; on furniture Rs.1,200.


OR  
 b) From the following balance sheet, prepare Cash Flow Statement as per Accounting Standard-3. 
  
   

Liabilities  2017 2018 Assets  2017 2018 

Share Capital  45,000 50,000 Fixed Assets  50,000 58,000 

General Reserve  15,000 18,000 Investments  10,000 12,000 

Profit and Loss A/c  
 20,000 26,000 

Stock  
 40,000 32,000 

12%Debentures  25,000 30,000 Debtors  15,000 18,000 

Sundry Creditors  
 15,000 13,000 

Cash in Hand  
 16,000 31,000 

Provision for Tax  
 16,000 18,000 

Discount on Debentures  
 5,000 4,000 

       1,36,000 1,55,000   1,36,000 1,55,000 
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  Additional information : 
i) Depreciation charged on fixed assets was Rs.17,000 

 

ii) Tax paid during the year Rs.15,000 
 

iii) Interim dividend paid Rs.10,000 
 

13. a) The following expenses are incurred in a factory for the months of January and February in a 
particular year.


  January February 

Wages  16,000 20,000 

Salaries  10,000 12,000 

Factory Expenses  14,000 16,000 

Calculate the budgeted cash outflow for the month of February taking into account that, 

 
i) Wages are paid at the beginning of next week, 

 
ii) Salaries are paid at the beginning of next month and  

 
iii) Time lag in case of factory expenses is half month. 

 
OR  

 b) The following information relates to a flexible budget at 60% capacity. Find out the cost at 50% and 

70% capacity. 

  
 

Variable Overheads  
Expenses at 60% Capacity 
 

(Rs.) 

Indirect Labour  42,000 

Direct Materials  33,600 

Semi-Variable Overheads : 
 

Repairs and Maintenance (70% fixed and 30% variable) 
 28,000 

Electricity (50% fixed and 50% variable)  
 1,00,800 

Fixed Overheads : 
 

Office Expenses including Salaries  2,80,000 

Insurance  16,000 

Depreciation  80,000 

Estimated direct labour hours  4,80,000 

 
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Note: Answer any FOUR questions not exceeding 4 pages each.  


4 x 20=80M
 

1. What is GST? Explain the procedure of registration under GST. 
  GSTGST 
 
2. How is it possible to transport goods without the issue of invoice? 
  
 
3. When does the liabilities to pay GST arise? How to determine the nature of transaction for the levy 

of GST? 
 GSTGST 

 
4. Define the term “Supply” under GST U/s.7. What are inclusions and exclusions in supply? 
  GST 

  
5. Explain the accounting for GST transactions. 
 GST 
 

6. Mr.A, an input service provider, supplied services worth Rs.30,000 to Mr.L and charged CGST and 
SGST @12% each. Profit margin of Mr.L is 12%. Mr.L further supplied services to his customer at 
CGST and SGST @12% each. How is ITC utilized by Mr.L? Calculate the total tax collected by 
Centre and State. 

  ALCGST 
 SGST  LCGSTSGST
 LITC
 
 
7. Discuss the procedure of cancellation of inward supply and outward supply of services. 
  
 
8. Gowtham Ltd. of Arunachal Pradesh supplies goods worth Rs.8,00,000 to Manjunath Ltd. of 

Andhra Pradesh. Tax rates are 18% each of CGST and SGST. IGST is 28%. Determine the nature 
of supply and compute the tax liability. 

  
 CGSTSGSTIGST
  
 
9. How to generate GSTR report in ERP? 
 ERPGSTR
  
10. Explain the role and functions of Tally ERP.9. 
  Tally ERP.9 

 


